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1.  
What disorder is characterised by an initial ‘herald patch’ which is then followed by scaly 
erythematous plaques usually in a ‘Christmas tree’ distribution?

 (Один ответ)
A) Pityriasis rosea                                                    
B) Herpes                                                    
C) Varicella zoster virus                                                    
D) Erysipelas                                                    

2.  
What is the most common mole found in adults?

 (Один ответ)
A) Junctional nevus                                                    
B) Compound nevus                                                    
C) Intradermal nevus                                                    
D) Congenital nevus                                                    

3.  
What is the infective agent implicated in acne?

 (Один ответ)
A) Staphylococcus aureus                                                    
B) Streptococcus pyogenes                                                    
C) Staphylococcus epidermidis                                                    
D) Propionibacterium acnes                                                    

4.  

What are the histological findings of psoriasis?

 (Один ответ)
A) A: Inflammation of the dermal-epidermal junction                                                     
B)   B Peripheral palisading of basal cells                                                     
C)  C Acanthosis, Parakeratosis and Munro microabscesses                                                    
D)   D Keratin pseudocysts                                                    

5.  
How does impetigo present?

 (Один ответ)



A) A: Golden honey coloured crust over an erythematous base                                                     
B)   B Salmon coloured plaque with silvery scale                                                     
C)   C Comedones, pustules and nodules                                                      
D)   D Flesh coloured papule with a rough surface                                                    

6.  
What condition is associated with this presentation? A pink pearly nodule with telangiectasias, 
ulceration and rolled borders on the upper lip.

 (Один ответ)
A) Squamous cell carcinoma                                                    
B) Basal cell carcinoma                                                    
C) Melanoma                                                    
D)  Eczema                                                    

7.  
What is Leser-Trélat sign?

 (Один ответ)
A) Sudden appearance of multiple seborrhoeic keratoses and is an indicator of a gastrointestinal 
tract carcinoma.                                                    
B) A left supraclavicular node associated with gastric carcinoma                                                    
C) Metastasis of gastric carcinoma to the periumbilical region                                                    
D) Metastasis of gastric carcinoma to the bilateral ovaries                                                    

8.  
What is the most common causative agent of erythema multiforme (EM)?

 (Один ответ)
A) Penicillin and sulphonamides                                                    
B) Systemic lupus erythematosus                                                    
C) HSV infection                                                    
D) Malignancy                                                    

9.  
What is the best indicator of prognosis for a melanoma?

 (Один ответ)
A) A: Asymmetry                                                     
B)   B Colour                                                      
C)   C Diameter                                                      
D)   D Invasion of the dermi                                                    

10.  
What type of melanoma is often seen in dark skinned individuals?



 (Один ответ)
A) Superficial spreading                                                    
B) Lentigo maligna melanoma                                                    
C) Nodular                                                    
D) Acral lentiginous                                                    

11.  
What skin condition is caused by poxvirus?

 (Один ответ)
A) Verruca                                                    
B) Molluscum contagiosum                                                    
C) Impetigo                                                    
D) Cellulitis                                                    

12.  
How does lichen planus present clinically?

 (Один ответ)
A) A: Salmon coloured plaques with silvery scale                                                     
B)  red, oozing rash with edema                                                    
C)  C Golden coloured crusts                                                     
D)   D Pruritic, purple, polygonal, planar papules and plaques                                                    

13.  
An elderly lady presents to her doctor with a raised, round discoloured plaque, ‘stuck on 
appearance’ on her face. What skin condition is this?

 (Один ответ)
A) Rubella                                                    
B) Seborrheic keratosis                                                    
C) Basal cell carcinoma                                                    
D) Melasma                                                    

14.  
What is a precursor to squamous cell carcinoma (SCC)?

 (Один ответ)
A) Keratoacanthoma                                                    
B) Actinic keratosis                                                    
C) Leser-Trélat sign                                                    
D) Measles                                                    

15.  
What is the pathogenesis of pemphigus vulgaris?

 (Один ответ)
A) A: IgG antibody against desmoglein                                                    



B)   B IgG antibody against hemidesmosome components                                                     
C)  C Autoimmune deposition of IgA at tips of dermal papillae                                                      
D)   D Enzyme defect in tyrosinase                                                    

16.  
What is the pathogenesis of vitiligo?

 (Один ответ)
A) A: Congenital lack of pigmentation                                                      
B)  B Increase in the number of melanosomes                                                     
C)   C Autoimmune destruction of melanocytes                                                     
D)   D Benign proliferation of melanocytes                                                    

17.  
What are the histological findings of psoriasis?

 (Один ответ)
A) Inflammation of the dermal-epidermal junction                                                    
B) Peripheral palisading of basal cells                                                    
C) Acanthosis, Parakeratosis and Munro microabscesses                                                    
D) Keratin pseudocysts                                                    

18.  
How does impetigo present?

 (Один ответ)
A) Golden honey coloured crust over an erythematous base                                                    
B) Salmon coloured plaque with silvery scale                                                    
C) Comedones, pustules and nodules                                                    
D) Flesh coloured papule with a rough surface                                                    

19.  
What condition is associated with acanthosis nigricans?

 (Один ответ)
A) A: Type 2 diabetes and gastric adenocarcinoma                                                     
B)   B Rubella                                                      
C)   C Varicella zoster                                                     
D)   D Basal cell carcinoma                                                    

20.  
What is the best indicator of prognosis for a melanoma?

 (Один ответ)
A) Asymmetry                                                    
B) Colour                                                    
C) Diameter                                                    
D) Invasion of the dermis                                                    



21.  
What childhood infection is associated with Koplik spots?

 (Один ответ)
A) A: Measles                                                      
B)   B Rubella                                                    
C) a  C Varicella                                                     
D)   D Fifth disease                                                    

22.  
How does lichen planus present clinically?

 (Один ответ)
A) Salmon coloured plaques with silvery scale                                                    
B) Pruritic, red, oozing rash with edema                                                    
C) Golden coloured crusts                                                    
D) Pruritic, purple, polygonal, planar papules and plaque                                                    

23.  
What is the pathogenesis of pemphigus vulgaris?

 (Один ответ)
A) IgG antibody against desmoglein                                                    
B) IgG antibody against hemidesmosome components                                                    
C) Autoimmune deposition of IgA at tips of dermal papillae                                                    
D) Enzyme defect in tyrosinase                                                    

24.  
What disease is associated with dermatitis herpetiformis?

 (Один ответ)
A) A: Herpes                                                     
B)   B Coeliac disease                                                      
C)   C Atopic dermatitis                                                      
D)   D Melanoma                                                    

25.  
What is the pathogenesis of vitiligo?

 (Один ответ)
A) Congenital lack of pigmentation                                                    
B) Increase in the number of melanosomes                                                    
C) Autoimmune destruction of melanocytes                                                    
D) Benign proliferation of melanocytes                                                    

26.  
. All of the following statements about erythroderma are true EXCEPT



 (Один ответ)
A) a) There is > 90% body surface involvement                                                     
B)   b) It is more common in males                                                     
C)  c) The most common cause is drug reaction                                                    
D)   d) High output cardiac failure is a recognised sequelae                                                    

27.  
What condition is associated with acanthosis nigricans?

 (Один ответ)
A) Type 2 diabetes and gastric adenocarcinoma                                                    
B) Rubella                                                    
C) Varicella zoster                                                    
D) Basal cell carcinoma                                                    

28.  
What childhood infection is associated with Koplik spots?

 (Один ответ)
A) Measles                                                    
B) Rubella                                                    
C) Varicella                                                    
D) Fifth disease                                                    

29.  
. The feature you would NOT expect to find in a case of erythema multiforme after cefaclor use is

 (Один ответ)
A) a) Itch                                                     
B)  b) Target lesions                                                     
C)   b) Target lesions                                                      
D)   c) No cross sensitivity with cefotaxime                                                    

30.  
What disease is associated with dermatitis herpetiformis?

 (Один ответ)
A) Herpes                                                    
B) Coeliac disease                                                    
C) Atopic dermatitis                                                    
D) Melanoma                                                    

31.  
. Which of the following features is consistent with scarlet fever

 (Один ответ)



A) a) Punctate rash on neck and truck                                                    
B)   b) Perioral erythema                                                      
C)   c) Geographic tongue                                                      
D) e  d) Resolution without desquamation                                                    

32.  
All of the following statements about erythroderma are true EXCEPT

 (Один ответ)
A) There is > 90% body surface involvement                                                    
B) It is more common in males                                                    
C) The most common cause is drug reaction                                                    
D) High output cardiac failure is a recognised sequelae                                                    

33.  
. Erythema Nodosum is an example of

 (Один ответ)
A) a) Panniculitis                                                     
B)   b) Vasculitis                                                     
C)  Serum sickness                                                     
D)   d) Erythroderma                                                    

34.  
In what dermatological condition is a Tsanck smear used to aid diagnosis?

 (Один ответ)
A) Skin lesions of meningococcus                                                    
B) Herpes vesicular lesions                                                    
C) Secondary syphilis                                                    
D) Urticaria                                                    

35.  
Which is not true of erythema multiforme?

 (Один ответ)
A) classically there are target lesions, especially on the periphery                                                    
B) there tends to be associated fever and arthralgia                                                    
C) it settles within 7-10 days if left untreated                                                    
D) steroids orally quicken the recovery                                                    

36.  
Which drug is not likely to cause toxic epidermal necrolysis?

 (Один ответ)
A) penicillin                                                    
B) trimethoprim                                                    
C) carbamazepine                                                    



D) cimetidine                                                    

37.  
. Geographic tongue is caused by

 (Один ответ)
A) a) Kawasaki disease                                                     
B)   c) Acromegaly                                                    
C)   d) Pernicious anaemia                                                      
D)   e) None of the above                                                    

38.  
. The toxic reaction you would least expect with bupivocaive is

 (Один ответ)
A) a) Anaphylaxis                                                      
B) s b) Sense of impending doom                                                     
C)  c) Fitting                                                      
D)   d) Arrythmia                                                    

39.  
Which is not a possible cause of a blistered patient?

 (Один ответ)
A) molluscum contagiosum                                                    
B) hand, foot and mouth disease                                                    
C) eczema herpeticum                                                    
D) allergic contact dermatitis                                                    

40.  
. Which of the following is associated with a lower incidence of wound infection (given 
adequately cleaned

wounds)

 (Один ответ)
A) a) Steristrips                                                    
B)   b) Staples                                                      
C)  d) Antibiotics for puncture wounds                                                     
D)   e) All of the above                                                    

41.  
Which is NOT TRUE of staphylococcal scalded skin syndrome?

 (Один ответ)
A) it is most commonly seen in infants                                                    
B) it is toxin mediatied                                                    
C) there is no mucosal invovement                                                    



D) it tends to be less severe than toxic epidermal necrolysis                                                    

42.  
What is the most common causative agent of erythema multiforme (EM)?

 (Один ответ)
A) A: Penicillin and sulphonamides                                                    
B) B Systemic lupus erythematosus                                                    
C) C HSV infection                                                    
D)  Malignancy                                                    

43.  
Which infectious erythema is purely caused by toxin alone and not from the infectious process 
as well?

 (Один ответ)
A) toxic shock syndrome                                                    
B) scarlet fever                                                    
C) streptococcal toxic shock syndrome                                                    
D) staphylococcal scalded skin syndrome                                                    

44.  
. Which of the following is not associated with poor wound healing

 (Один ответ)
A) a) Lower limb lacerations in the elderly                                                    
B)  b) Broad based flap lacerations                                                     
C)   c) Long flap lacerations                                                      
D)   d) Haematoma beneath a flap laceration                                                    

45.  
Which rash is not usually itchy?

 (Один ответ)
A) eczema                                                    
B) scabies                                                    
C) bites                                                    
D) scarlet fever                                                    

46.  
What type of melanoma is often seen in dark skinned individuals?

 (Один ответ)
A) A: Superficial spreading                                                    
B) B Lentigo maligna melanoma                                                    
C) C Nodular                                                    
D) D Acral lentiginous                                                    



47.  
What skin condition is caused by poxvirus

 (Один ответ)
A) A: Verruca                                                     
B)  B Molluscum contagiousm                                                    
C) C Impetigo                                                      
D)  D Cellulitis                                                    

48.  
If a patient presents with DIC after dog bite the likely organism would be

 (Один ответ)
A) a) Pseudomonas Aeruginosa                                                      
B)   b) Staphylococcus Aureus                                                     
C)  c) Streptococcus Viridans                                                     
D)   d) Capnocytophaga Caniniosus                                                    

49.  
Which is not true of scarlet fever?

 (Один ответ)
A) the erythema appears very early after the prodrome begins                                                    
B) the rash does not blanche                                                    
C) there is circumoral pallor                                                    
D) there is often pharyngotonsillitis                                                    

50.  
Which wound does not require antibiotic prohylaxis upon discharge (assuming seen within 3 
hours and appropriate wound care applied)?

 (Один ответ)
A) f) axillary                                                    
B) e) plantar puncture wounds                                                    
C) d) all cat bites                                                    
D) b) complicated dog bites                                                    

51.  
. Which sort of puncture wound is prone to unusual infection not covered by the above regimen? 
What is the

organism involved?

 (Один ответ)
A) a) nail                                                      
B)  b) glass                                                     
C)  c) through athletic footwear                                                    



D) none                                                    

52.  
Which is not one of the five criteria other then fever required to make the diagnosis of Kawasakis 
disease?

 (Один ответ)
A) peripheral changes. Eg erythema and oedema                                                    
B) bilateral non purulent conjunctivitis                                                    
C) polymorphous rash                                                    
D) pustular tonsillitis                                                    

53.  
. Which antibiotic regimen is recommended in antibiotic guidelines for bites with a high risk of 
infection?

 (Один ответ)
A) a) augmentin duo forte                                                      
B)  b) penicillin                                                      
C)  c) ampicillin                                                    
D)   d) cephalexin                                                    

54.  
. Which rash is not characteristically found on the hands?

 (Один ответ)
A) a) secondary syphilis                                                      
B)  c) gonococcus                                                    
C)  d) meningococcus                                                    
D)   e) herpes simple                                                    

55.  
Which dose not tend to produce palpable purpura?

 (Один ответ)
A) meningococcus                                                    
B) vasculitis                                                    
C) SLE, rheumatoid arthritis                                                    
D) Clotting disorders                                                    

56.  
Human bites to what area have the highest rate of infection?

 (Один ответ)
A) a) face                                                    
B)  b) arm                                                      
C)  c) shin                                                    
D) none                                                    



57.  
Which is not associated with erythema nodosum?

 (Один ответ)
A) crohns disease                                                    
B) leukemia                                                    
C) salmonella                                                    
D) hep B                                                    

58.  
. In what dermatological condition is a Tsanck smear used to aid diagnosis?

 (Один ответ)
A) a) Skin lesions of meningococcu                                                    
B)   b) Herpes vesicular lesion                                                    
C)   c) Secondary syphilis                                                    
D)   d) Urticaria                                                    

59.  
Which is not readily seen on Xray?

 (Один ответ)
A) a) all glass greater than 2mm                                                    
B)  b) gravel                                                      
C)  c) teeth                                                      
D) none                                                    

60.  
Which is not associated with pyoderma gangrenosum?

 (Один ответ)
A) IBD                                                    
B) Rheumatoid arthritis                                                    
C) Leukemia                                                    
D) salmonella                                                    

61.  
Which is NOT TRUE of pemphigus and pemphigoid?

 (Один ответ)
A) the prognosis of pemphigoid is better                                                    
B) pemphigous lesions are intra dermal where as the lesions in pemphigoid are subdermal                                                    
C) mucosa is more often involved in pemhigous                                                    
D) clinically the two can be usually differentiated with a good examination                                                    

62.  
. At which distance should two point discrimination be possible?



 (Один ответ)
A) a) 2mm                                                    
B) b) 5mm                                                      
C)   c) 7.5mm                                                    
D) all of the above                                                    

63.  
. Which is not true of erythema multiforme?

 (Один ответ)
A)  b) classically there are target lesions, especially on the periphery                                                      
B) a) less than 30% of the skin must be blistered to make this diagnosis                                                     
C)  c) there tends to be associated fever and arthralgia                                                      
D)   e) steroids orally quicken the recovery                                                    

64.  
Which is the usual causative organism in toxic shock syndrome?

 (Один ответ)
A) staph aureus                                                    
B) e coli                                                    
C) pneumococcus                                                    
D) strep pyogenes                                                    

65.  
Which is false regarding staples?

 (Один ответ)
A) a) they have a higher rate of infection than sutures                                                    
B) b) they are cheaper than sutures                                                    
C) c) they are quicker to insert than sutures                                                    
D) all of the above                                                    

66.  
Which drug is not likely to cause toxic epidermal necrolysis?

 (Один ответ)
A) a) penicillin                                                      
B)   b) trimethoprim                                                     
C)   c) carbamazepine                                                    
D)   d) cimetidine                                                    

67.  
Which medication does not commonly cause photosensitivity eruptions?



 (Один ответ)
A) thiazide diuretics                                                    
B) spironolactone                                                    
C) loop diuretics                                                    
D) amioderone                                                    

68.  
. Which suture should be used for wounds at risk of infection?

 (Один ответ)
A) a) monofilament, natur                                                    
B)   b) monafilament, synthetic                                                      
C)  c) multifilament, natural                                                    
D) none                                                    

69.  
Which is not true of antiviral medications if given within 72 hours of vesicle formation in herpes 
zoster?

 (Один ответ)
A) it decreases time to healing                                                    
B) it decreases new lesion formation                                                    
C) it decreases recurrence                                                    
D) it possibly decreases pain                                                    

70.  
Which is not a possible cause of a blistered patient?

 (Один ответ)
A) a) molluscum contagiosum                                                     
B)   b) hand, foot and mouth disease                                                     
C)   c) eczema herpeticum                                                    
D)   d) allergic contact dermatitis                                                    

71.  
Which is not true of measles?

 (Один ответ)
A) Koplicks spots are seen a few days after the onset of rash                                                    
B) The rash appears a few days after the prodrome, starting at the head and moving downwards                                                    
C) Unimmunised contacts should be given MMR within 72 hours if over 6 months of age                                                    
D) If greater than 72 hours immunoglobulin should be given i.m.                                                    

72.  
. Which wound is most likely to produce tetanus?

 (Один ответ)



A) a) Intraoral laceration                                                    
B) c) crush injury to distal phalynx                                                    
C) d) frostbite                                                    
D) e) puncture wounds                                                    

73.  
Which is not true of henoch schonlein purpura?

 (Один ответ)
A) purpura are classically on the lower limbs                                                    
B) abdominal pain and malena are documented                                                    
C) renal disease is a potentially serious complication                                                    
D) steroids diminish the likelihood of renal complications                                                    

74.  
Which is NOT TRUE of staphylococcal scalded skin syndrome?

 (Один ответ)
A) a) it is most commonly seen in infants                                                     
B)   b) it is toxin mediatied                                                     
C)   c) there is no mucosal invovement                                                     
D)   d) it tends to be less severe than toxic epidermal necrolysis                                                    

75.  
. Which is the correct regimen for wound irrigation?

 (Один ответ)
A) a) 21 gauge needle, 50 ml syringe                                                    
B) b) 21 gauge needle, 20 ml syringe                                                    
C) c) 19 gauge needle, 50 ml syringe                                                    
D) d) 19 gauge needle, 20 ml syringe                                                    

76.  
How many days it take a wound to reach 100% of its original tensile strength?

 (Один ответ)
A) 40                                                    
B) 100                                                    
C) 150                                                    
D) 250                                                    

77.  
. Which is the best irrigation fluid for most wounds?

 (Один ответ)
A) a) normal saline                                                      
B)  b) povodine – iodine                                                      
C) c) aquesous chlorhexidine                                                    
D) d) chlorhexidine with cetramide                                                    



78.  
. Which infectious erythema is purely caused by toxin alone and not from the infectious process 
as well?

 (Один ответ)
A) a) toxic shock syndrome                                                     
B)  b) scarlet fever                                                     
C)  c) streptococcal toxic shock syndrome                                                      
D)   d) staphylococcal scalded skin syndrome                                                    

79.  
. Which imaging modality is most successful at detecting suspected foreign bodies in wounds?

 (Один ответ)
A) a) normal plain xray                                                      
B)  b) plain xray ‘soft tissue view’                                                     
C) c) ultrasound                                                     
D)   d) CT                                                    

80.  
How many days it take a wound to reach 100% of its original tensile strength?

 (Один ответ)
A) a) 40                                                      
B)  b) 100                                                     
C) c) 150                                                    
D) d) 250                                                    

81.  
Which imaging modality is most successful at detecting suspected foreign bodies in wounds?

 (Один ответ)
A) normal plain xray                                                    
B) plain xray ‘soft tissue view’                                                    
C) ultrasound                                                    
D) CT                                                    

82.  
Which rash is not usually itchy?

 (Один ответ)
A) a) urticaria                                                      
B) a  b) eczema                                                      
C)   d) bites                                                      
D)   e) scarlet fever                                                    



83.  
Which is not true of henoch schonlein purpura?

 (Один ответ)
A) a) it is a vasculitis of unknown cause                                                    
B) c) abdominal pain and malena are documented                                                    
C) d) renal disease is a potentially serious complication                                                    
D) e) steroids diminish the likelihood of renal complications                                                    

84.  
Which is the best irrigation fluid for most wounds?

 (Один ответ)
A) normal saline                                                    
B) povodine – iodine                                                    
C) aquesous chlorhexidine                                                    
D) chlorhexidine with cetramide                                                    

85.  
Which is not true of antiviral medications if given within 72 hours of vesicle formation in herpes 
zoster?

 (Один ответ)
A) a) it decreases time to healing                                                    
B) b) it decreases new lesion formation                                                    
C) c) it decreases recurrence                                                    
D) d) it possibly decreases pain                                                    

86.  
Which is the correct regimen for wound irrigation?

 (Один ответ)
A) 21 gauge needle, 50 ml syringe                                                    
B) 21 gauge needle, 20 ml syringe                                                    
C) 19 gauge needle, 50 ml syringe                                                    
D) 19 gauge needle, 20 ml syringe                                                    

87.  
Which is not true of scarlet fever?

 (Один ответ)
A) a) the erythema appears very early after the prodrome begins                                                     
B)   b) the rash does not blanche                                                      
C)   c) there is circumoral pallor                                                     
D)   d) there is often pharyngotonsillitis                                                    



88.  
Which medication does not commonly cause photosensitivity eruptions?

 (Один ответ)
A) a) thiazide diuretics                                                     
B)  b) spironolactone                                                      
C)  c) loop diuretics                                                    
D) all of the above                                                    

89.  
When antibiotics are given for a wound with a high risk of infection, how should they be given in 
the ED?

 (Один ответ)
A) orally prior to wound manipulation, with discharge prescription                                                    
B) iv prior to wound manipulation, with discharge prescription                                                    
C) a prescription to be filled on discharge                                                    
D) both A and B give the same result                                                    

90.  
. Which is the usual causative organism in toxic shock syndrome?

 (Один ответ)
A) a) staph aureus                                                     
B)  b) e coli                                                      
C) c) pneumococcus                                                      
D)  d) strep pyogenes                                                    

91.  
. Which is not one of the five criteria other then fever required to make the diagnosis of 
Kawasakis disease?

 (Один ответ)
A) a) cervical LN  b) peripheral changes. Eg erythema and oedema                                                     
B)   c) bilateral non purulent conjunctivitis                                                     
C)   d) polymorphous rash                                                     
D)  e) pustular tonsillitis                                                    

92.  
Which wound is most likely to produce tetanus?

 (Один ответ)
A) scalp laceration with underlying skull fracture                                                    
B) crush injury to distal phalynx                                                    
C) frostbite                                                    
D) puncture wounds                                                    

93.  
Which is NOT TRUE of pemphigus and pemphigoid?



 (Один ответ)
A) a) the prognosis of pemphigoid is better                                                    
B) b) pemphigous lesions are intra dermal where as the lesions in pemphigoid are subdermal                                                    
C) c) mucosa is more often involved in pemhigous                                                    
D) d) clinically the two can be usually differentiated with a                                                    

94.  
. Which is not associated with pyoderma gangrenosum

 (Один ответ)
A) a) IBD                                                    
B)  b) Rheumatoid arthritis                                                      
C)  c) Leukemia                                                     
D) d) salmonella                                                    

95.  
Which suture should be used for wounds at risk of infection?

 (Один ответ)
A) monofilament, natural                                                    
B) monafilament, synthetic                                                    
C) multifilament, natural                                                    
D) multifilament, synthetic                                                    

96.  
Which is not associated with erythema nodosum?

 (Один ответ)
A) a) sarcoid  b) crohns disease                                                      
B)  c) leukemia                                                      
C)  d) salmonell                                                    
D)  e) hep B                                                    

97.  
Which dose not tend to produce palpable purpura?

 (Один ответ)
A) a) meningococcus                                                    
B)   b) vasculitis                                                     
C) s  c) SLE, rheumatoid arthritis                                                     
D)   d) Clotting disorders                                                    

98.  
Which dose not tend to produce palpable purpura

 (Один ответ)
A) a) meningococcus                                                     



B) b) vasculitis                                                      
C)  c) SLE, rheumatoid arthritis                                                      
D)  d) Clotting disorders                                                    

99.  
Which is false regarding staples?

 (Один ответ)
A) they have a higher rate of infection than sutures                                                    
B) they are cheaper than sutures                                                    
C) they are quicker to insert than sutures                                                    
D) they are more painful to remove than sutures                                                    

100.  
At which distance should two point discrimination be possible?

 (Один ответ)
A) 2mm                                                    
B) 5mm                                                    
C) 7.5mm                                                    
D) 10mm                                                    

101.  
. Which is not one of the five criteria other then fever required to make the diagnosis of 
Kawasakis disease?

 (Один ответ)
A) a) cervical LN                                                    
B) b) peripheral changes. Eg erythema and oedema                                                    
C) c) bilateral non purulent conjunctivitis                                                    
D) d) polymorphous rash                                                    
E) e) pustular tonsilli                                                    

102.  
Which is not associated with erythema nodosum?

 (Один ответ)
A) a) sarcoid                                                     
B)   c) leukemia                                                     
C)   d) salmonell                                                    
D)  e) hep B                                                    

103.  
Which is not readily seen on Xray?

 (Один ответ)
A) all glass greater than 2mm                                                    
B) gravel                                                    



C) teeth                                                    
D) fish bone                                                    

104.  
Which is not true of scarlet fever?

 (Один ответ)
A) a) the erythema appears very early after the prodrome begins                                                    
B) b) the rash does not blanche                                                    
C) c) there is circumoral pallor                                                    
D) d) there is often pharyngotonsillitis                                                    

105.  
. Which is not associated with pyoderma gangrenosum?

 (Один ответ)
A) a) IBD                                                    
B)   b) Rheumatoid arthritis                                                      
C)   c) Leukemia                                                    
D) d) salmonella                                                    

106.  
Human bites to what area have the highest rate of infection?

 (Один ответ)
A) arm                                                    
B) shin                                                    
C) back                                                    
D) hand                                                    

107.  
Which rash is not usually itchy?

 (Один ответ)
A) a) urticaria                                                     
B) b) eczema                                                      
C)   c) scabies                                                     
D) s  e) scarlet fever                                                    

108.  
Regarding bites which is false?

 (Один ответ)
A) all hand bites (animal and human) should be managed by delayed primary closure or 
secondary  intention                                                    
B) primary wound closure to the head and neck is acceptable after appropriate wound irrigation                                                    
C) wounds less than1-2 cm have a lower rate of infection and can be safely treated with primary 
closure                                                    



D) infection with pasturella multicodia is specific to cat bites                                                    

109.  
Which infectious erythema is purely caused by toxin alone and not from the infectious process 
as well?

 (Один ответ)
A) a) toxic shock syndrome                                                    
B) b) scarlet fever                                                    
C) c) streptococcal toxic shock syndrome                                                    
D) d) staphylococcal scalded skin syndrome                                                    

110.  
Which antibiotic regimen is recommended in antibiotic guidelines for bites with a high risk of 
infection?

 (Один ответ)
A) augmentin duo forte                                                    
B) penicillin                                                    
C) ampicillin                                                    
D) cephalexin                                                    

111.  
. Which is NOT TRUE of staphylococcal scalded skin syndrome?

 (Один ответ)
A) a) it is most commonly seen in infants                                                    
B) b) it is toxin mediatied                                                    
C) ) there is no mucosal invovement                                                    
D) d) it tends to be less severe than toxic epidermal necrolysis                                                    

112.  
. Which is NOT TRUE of pemphigus and pemphigoid?

 (Один ответ)
A) a) the prognosis of pemphigoid is better                                                     
B)  b) pemphigous lesions are intra dermal where as the lesions in pemphigoid are subdermal                                                      
C) l  c) mucosa is more often involved in pemhigous                                                    
D) s  d) clinically the two can be usually differentiated with a good examination                                                    

113.  
. Which is not a possible cause of a blistered patient?

 (Один ответ)
A) a) molluscum contagiosum                                                      
B)  b) hand, foot and mouth disease                                                    



C) c) eczema herpeticum                                                      
D)  d) allergic contact dermatitis                                                    

114.  
. Which drug is not likely to cause toxic epidermal necrolysis

 (Один ответ)
A) a) penicillin                                                      
B)  b) trimethoprim                                                      
C)   c) carbamazepine                                                     
D)  d) cimetidine                                                    

115.  
In what dermatological condition is a Tsanck smear used to aid diagnosis?

 (Один ответ)
A) a) Skin lesions of meningococcus                                                      
B)  b) Herpes vesicular lesions                                                      
C) c) Secondary syphilis                                                    
D) all of the above                                                    

116.  
Which rash is not characteristically found on the hands?

 (Один ответ)
A) a) secondary syphilis                                                     
B)   b) erythema multiforme                                                      
C) c) gonococcus                                                      
D) d) herpes simple                                                    

117.  
. Which is the usual causative organism in toxic shock syndrome?

 (Один ответ)
A) a) staph aureu                                                    
B)  b) e coli                                                     
C)  c) pneumococcu                                                    
D)   d) strep pyogenes                                                    

118.  
If a patient presents with DIC after dog bite the likely organism would be

 (Один ответ)
A) a) Pseudomonas Aeruginosa                                                    
B) b) Staphylococcus Aureus                                                    
C) c) Streptococcus Viridans                                                    



D) d) Capnocytophaga Caniniosus                                                    

119.  
Which sort of puncture wound is prone to unusual infection not covered by the above regimen? 
What is the organism involved?

 (Один ответ)
A) nail                                                    
B) glass                                                    
C) through athletic footwear                                                    
D) through leather soles                                                    

120.  
Which medication does not commonly cause photosensitivity eruptions?

 (Один ответ)
A)   c) loop diuretics                                                    
B)  b) spironolactone                                                     
C) a) thiazide diuretics                                                     
D)   e) sulfonylureas                                                    

121.  
What childhood infection is associated with Koplik spots

 (Один ответ)
A)   B Rubella                                                     
B)  C Varicella                                                      
C)  D Fifth disease                                                    
D) none                                                    

122.  
Which wound does not require antibiotic prohylaxis upon discharge (assuming seen within 3 
hours and appropriate wound care applied)?

 (Один ответ)
A) complicated human bites                                                    
B) all cat bites                                                    
C) plantar puncture wounds                                                    
D) axillary                                                    

123.  

What conditon is associated with acanthosis nigricans

 (Один ответ)
A) A: Type 2 diabetes and gastric adenocarcinoma                                                      
B)  B Rubella                                                      
C) C Varicella zoster                                                     



D)  D Basal cell carcinoma                                                    

124.  
. Which is not true of antiviral medications if given within 72 hours of vesicle formation in herpes 
zoster?

 (Один ответ)
A) a) it decreases time to healing                                                      
B)   b) it decreases new lesion formation                                                    
C) c) it decreases recurrence                                                    
D)   d) it possibly decreases pain                                                    

125.  
What is the pathogenesis of vitiligo?

 (Один ответ)
A) A: Congenital lack of pigmentation                                                      
B) B Increase in the number of melanosom                                                    
C)  C Autoimmune destruction of melanocytes                                                    
D) all of the above                                                    

126.  
Which medication does not commonly cause photosensitivity eruptions?

 (Один ответ)
A) thiazide diuretics                                                    
B) spironolactone                                                    
C) loop diuretics                                                    
D) amioderone                                                    

127.  
What is the pathogenesis of pemphigus vulgaris?

 (Один ответ)
A) B IgG antibody against hemidesmosome components                                                    
B) A: IgG antibody against desmoglein                                                    
C) C Autoimmune deposition of IgA at tips of dermal papillae                                                    
D) all of the above                                                    

128.  
Which is not true of antiviral medications if given within 72 hours of vesicle formation in herpes 
zoster?

 (Один ответ)
A) it decreases time to healing                                                    
B) it decreases new lesion formation                                                    
C) it decreases recurrence                                                    
D) it possibly decreases pain                                                    



129.  
How does lichen planus present clinically?

 (Один ответ)
A) A: Salmon coloured plaques with silvery scale                                                    
B) B Pruritic, red, oozing rash with edema                                                    
C) C Golden coloured crusts                                                    
D) none                                                    

130.  
Which is not true of measles?

 (Один ответ)
A) Koplicks spots are seen a few days after the onset of rash                                                    
B) The rash appears a few days after the prodrome, starting at the head and moving downwards                                                    
C) Unimmunised contacts should be given MMR within 72 hours if over 6 months of age                                                    
D) If greater than 72 hours immunoglobulin should be given i.m.                                                    

131.  
What is the best indicator of prognosis for a melanoma?

 (Один ответ)
A) A: Asymmetry                                                      
B)  B Colour                                                      
C) C Diameter                                                      
D) D Invasion of the dermis                                                    

132.  
Which is not true of henoch schonlein purpura?

 (Один ответ)
A) purpura are classically on the lower limbs                                                    
B) abdominal pain and malena are documented                                                    
C) renal disease is a potentially serious complication                                                    
D) steroids diminish the likelihood of renal complications                                                    

133.  
What is the best indicator of prognosis for a melanoma?

 (Один ответ)
A)  a. Diameter                                                     
B) B Colour                                                     
C)  D Invasion of the dermis                                                    
D) none                                                    

134.  
What is a precursor to squamous cell carcinoma (SCC)?



 (Один ответ)
A) A: Keratoacanthoma                                                      
B)  B Actinic keratosis                                                     
C)  C Leser-Trélat sign                                                    
D) none                                                    

135.  
An elderly lady presents to her doctor with a raised, round discoloured plaque, ‘stuck on 
appearance’ on her face. What skin condition is

 (Один ответ)
A) A: Rubel                                                    
B) B Seborrheic keratosis                                                     
C)   C Basal cell carcinoma                                                    

136.  
Which transparent layer of the skin does not contain blood vessels?

 (Один ответ)
A) dermis                                                    
B) adipose layer                                                    
C) epidermis                                                    
D) serosa                                                    

137.  
When epidermal cells move towards the surface of skin, they become filled with:

 (Один ответ)
A) immunoglobulin                                                    
B) thrombin                                                    
C) collagen                                                    
D) keratin                                                    

138.  
The function of sebaceous glands is to produce:

 (Один ответ)
A) sebum                                                    
B) sweat                                                    
C) melanin                                                    
D) keratin                                                    

139.  
How many days it take a wound to reach 100% of its original tensile strength?

 (Один ответ)
A) 40                                                    
B)  100                                                    



C)  150                                                    
D) 250                                                    

140.  
The term erythema refers to:

 (Один ответ)
A) function of erythrocytes                                                    
B) increased blood flow to skin                                                    
C) the action of the antibiotic erythromycin                                                    
D) yellowing of skin                                                    

141.  
Deviation from the thermoregulatory set point is detected by:

 (Один ответ)
A) sensory nerve endings in the skin                                                    
B) the liver                                                    
C) skeletal muscles                                                    
D) the hypothalamus                                                    

142.  
Which imaging modality is most successful at detecting suspected foreign bodies in wounds?

 

 (Один ответ)
A)  normal plain xray                                                    
B) plain xray ‘soft tissue view’                                                    
C) ultrasound                                                    
D) CT                                                    

143.  
Which is the best irrigation fluid for most wounds?

 (Один ответ)
A) normal saline                                                    
B) povodine – iodine                                                    
C) aquesous chlorhexidine                                                    
D) chlorhexidine with cetramide                                                    

144.  
An increase in the temperature of blood activates which effector responses?

 (Один ответ)
A) vasoconstriction of arterioles in skin  and sweating                                                    
B) vasodilation of arterioles in skin  and sweating                                                    
C) vasoconstriction of arterioles in skin  and shivering                                                    
D) vasodilation of arterioles in skin  and shivering                                                    



145.  
Which is the correct regimen for wound irrigation?

 (Один ответ)
A)  21 gauge needle, 50 ml syringe                                                    
B)  21 gauge needle, 20 ml syringe                                                    
C) 19 gauge needle, 50 ml syringe                                                    
D) 19 gauge needle, 20 ml syringe                                                    

146.  
When a person goes outdoors into a cold environment:

 (Один ответ)
A) the rate of sweat production increases                                                    
B) the thermoregulatory centre in the  hypothalamus is inhibited                                                    
C) blood flow to the skin increases                                                    
D) heat loss is limited and heat-gaining  responses are activated                                                    

147.  
When antibiotics are given for a wound with a high risk of infection, how should they be given in 
the ED?

 (Один ответ)
A) orally prior to wound manipulation, with discharge prescription                                                    
B) iv prior to wound manipulation, with discharge prescription                                                    
C) a prescription to be filled on discharge                                                    
D) both A and B give the same result                                                    

148.  
Which wound is most likely to produce tetanus?

 (Один ответ)
A)  Intraoral laceration                                                    
B) scalp laceration with underlying skull fracture                                                    
C) crush injury to distal phalynx                                                    
D) puncture wounds                                                     

149.  
The term hypothermia refers to:

 (Один ответ)
A) body temperature below the normal range                                                    
B) body temperature above the normal range                                                    
C) heat exhaustion or heat stroke                                                    
D) poor response to thermal challenge                                                    



150.  
Which suture should be used for wounds at risk of infection?

 (Один ответ)
A) monofilament, natural                                                    
B) monafilament, synthetic                                                    
C) multifilament, natural                                                    
D) multifilament, synthetic                                                    

151.  
Identify the correct sequence of the phases of wound healing:

 (Один ответ)
A) proliferation; inflammation;  epithelialisation; remodelling                                                    
B) remodelling; inflammation; proliferation;  epithelialisation                                                    
C) inflammation; proliferation;  epithelialisation; remodelling                                                    
D) epithelialisation; proliferation;  inflammation; remodelling                                                    

152.  
The term haemostasis refers to:

 (Один ответ)
A) a red pigment in blood cells                                                    
B) bleeding                                                    
C) dialysis of blood                                                    
D) stoppage of blood flow                                                    

153.  
Which is false regarding staples?

 (Один ответ)
A) they have a higher rate of infection than sutures                                                    
B)  they are cheaper than sutures                                                    
C) they are quicker to insert than sutures                                                    
D) they are more painful to remove than sutures                                                    

154.  
Granulation tissue forms when a wound is healing and is:

 (Один ответ)
A) made by leucocytes (white cells)                                                    
B) a normal and desirable process                                                    
C) an abnormal and undesirable process                                                    
D) due to removal of old blood vessels                                                    

155.  
At which distance should two point discrimination be possible?



 (Один ответ)
A)  2mm                                                    
B) 5mm                                                    
C)  7.5mm                                                    
D) 10mm                                                    

156.  
Which organ in the list is the largest of the human body?

 (Один ответ)
A) bone marrow                                                    
B) liver                                                    
C) skin                                                    
D) brain                                                    

157.  
Which transparent layer of the skin does not contain blood vessels?

 (Один ответ)
A) dermis                                                    
B) adipose layer                                                    
C) epidermis                                                    
D) serosa                                                    

158.  
Which is not readily seen on Xray?

 (Один ответ)
A) all glass greater than 2mm                                                    
B) gravel                                                    
C) teeth                                                    
D) fish bone                                                    

159.  
When epidermal cells move towards the surface of skin, they become filled with:

 (Один ответ)
A) immunoglobulin                                                    
B) thrombin                                                    
C) collagen                                                    
D) keratin                                                    

160.  
The function of sebaceous glands is to produce:

 (Один ответ)
A) sebum                                                    



B) sweat                                                    
C) melanin                                                    
D) keratin                                                    

161.  
Human bites to what area have the highest rate of infection?

 (Один ответ)
A)  face                                                    
B) arm                                                    
C) shin                                                    
D) hand                                                     

162.  
The term erythema refers to:

 (Один ответ)
A) function of erythrocytes                                                    
B) increased blood flow to skin                                                    
C) the action of the antibiotic erythromycin                                                    
D) yellowing of skin                                                    

163.  
.Regarding bites which is false?

 (Один ответ)
A) all hand bites (animal and human) should be managed by delayed primary closure or 
secondary  intention                                                    
B) primary wound closure to the head and neck is acceptable after appropriate wound irrigation                                                    
C) wounds less than1-2 cm have a lower rate of infection and can be safely treated with primary 
closure                                                    
D) infection with pasturella multicodia is specific to cat bites                                                    

164.  
Deviation from the thermoregulatory set point is detected by:

 (Один ответ)
A) sensory nerve endings in the skin                                                    
B) the liver                                                    
C) skeletal muscles                                                    
D) the hypothalamus                                                    

165.  
Which antibiotic regimen is recommended in antibiotic guidelines for bites with a high risk of 
infection?

 (Один ответ)



A)  augmentin duo forte                                                    
B) penicillin                                                    
C) ampicillin                                                    
D) cephalexin                                                    

166.  
 All of the following statements about erythroderma are true EXCEPT

 (Один ответ)
A) There is > 90% body surface involvement                                                    
B) It is more common in males                                                    
C) The most common cause is drug reaction                                                    
D) High output cardiac failure is a recognised sequelae                                                    
E) Splenomegaly is associated in about 15%                                                     

167.  
 The feature you would NOT expect to find in a case of erythema multiforme after cefaclor use is

 (Один ответ)
A)  Itch                                                    
B) Target lesions                                                    
C)  No cross sensitivity with cefotaxime                                                    
D) Complete resolution in 2-3 weeks, without sequelae                                                    
E) Arthralgia                                                    

168.  
 Which of the following features is consistent with scarlet fever

 (Один ответ)
A) Punctate rash on neck and truck                                                    
B) Perioral erythema                                                    
C) Geographic tongue                                                    
D) Resolution without desquamation                                                    
E) Only occurs in association with streptococcal pharyngitis                                                    

169.  
Erythema Nodosum is an example of

 (Один ответ)
A) Panniculitis                                                    
B) Vasculitis                                                    
C) Serum sickness                                                    
D)  Erythroderma                                                    
E) Type 2 hypersensitivity                                                    

170.  
Geographic tongue is caused by



 (Один ответ)
A) Kawasaki disease                                                    
B)  Syphilis                                                    
C) Acromegaly                                                    
D) Pernicious anaemia                                                    
E) None of the above                                                     

171.  
 The toxic reaction you would least expect with bupivocaive is

 (Один ответ)
A) Anaphylaxis                                                    
B)  Sense of impending doom                                                    
C) Fitting                                                    
D) Arrythmia                                                    
E) Depressed level of consciousness                                                     

172.  
 Which of the following is associated with a lower incidence of wound infection (given adequately 
cleaned

wounds)

 (Один ответ)
A) Steristrips                                                    
B) Staples                                                    
C) Histoacryl                                                    
D) Antibiotics for puncture wounds                                                    
E) All of the above                                                    

173.  
Which of the following is not associated with poor wound healing

 (Один ответ)
A) Lower limb lacerations in the elderly                                                    
B) Broad based flap lacerations                                                    
C)  Long flap lacerations                                                    
D) Haematoma beneath a flap laceration                                                    
E) All of the above are associated with poor wound healing                                                    

174.  
 If a patient presents with DIC after dog bite the likely organism would be

 (Один ответ)
A)  Pseudomonas Aeruginosa                                                    



B) Staphylococcus Aureus                                                    
C) Streptococcus Viridans                                                    
D) Capnocytophaga Caniniosus                                                    
E) Pasturella Multocida                                                    

175.  
 A backpacker returns from Thailand claiming to have been bitten by a dog in Bangkok the week 
before.

There is a healing wound with scab on the right forearm ulnar aspect of the extensor surface. 
She cannot

remember her vaccination status. Which statement is most correct

 (Один ответ)
A) You should give 250U TIG, 0.5mL of ADT, commence oral antibiotic and refer back to the GP 
for further  care – complete ADT vaccinations                                                    
B) There is a strong risk that cellulitis due to pasturella multocida will develop in the next week  
c) ADT is contraindicated if she is either haemophilliac or pregnant                                                    
C) ADT is contraindicated if she is either haemophilliac or pregnant                                                    
D) You should give 250U TIG, 0.5mL of ADT 3 x in the next 3 months, 20U/kg RIG once and 0.1mL 
HDCV 5                                                    
E) Her risk of contracting rabies would not be reduced if she had cleaned the initial wound 
thoroughly straight  after the injury occurred                                                     

176.  
Which organ in the list is the largest of the human body?

 (Один ответ)
A) bone marrow                                                    
B) liver                                                    
C) skin                                                    
D) brain                                                    

177.  
Which rash is not characteristically found on the hands?

 (Один ответ)
A) secondary syphilis                                                    
B) erythema multiforme                                                    
C)  gonococcus                                                    
D) meningococcus                                                    
E) herpes simplex                                                    

178.  
Which transparent layer of the skin does not contain blood vessels?

 (Один ответ)
A) dermis                                                    



B) adipose layer                                                    
C) epidermis                                                    
D) serosa                                                    

179.  
When epidermal cells move towards the surface of skin, they become filled with:

 (Один ответ)
A) immunoglobulin                                                    
B) thrombin                                                    
C) collagen                                                    
D) keratin                                                    

180.  
.In what dermatological condition is a Tsanck smear used to aid diagnosis?

 (Один ответ)
A) Skin lesions of meningococcus                                                    
B) Herpes vesicular lesions                                                    
C)  Secondary syphilis                                                    
D) Urticaria                                                    
E)  EBV                                                     

181.  
The function of sebaceous glands is to produce:

 (Один ответ)
A) sebum                                                    
B) sweat                                                    
C) melanin                                                    
D) keratin                                                    

182.  
The term erythema refers to:

 (Один ответ)
A) function of erythrocytes                                                    
B) increased blood flow to skin                                                    
C) the action of the antibiotic erythromycin                                                    
D) yellowing of skin                                                    

183.  
.Which is not true of erythema multiforme?

 (Один ответ)
A)  less than 30% of the skin must be blistered to make this diagnosis                                                    
B)  there tends to be associated fever and arthralgia                                                    



C)  there tends to be associated fever and arthralgia                                                    
D)  it settles within 7-10 days if left untreated                                                    
E) steroids orally quicken the recovery                                                    

184.  
Deviation from the thermoregulatory set point is detected by:

 (Один ответ)
A) sensory nerve endings in the skin                                                    
B) the liver                                                    
C) skeletal muscles                                                    
D) the hypothalamus                                                    

185.  
An increase in the temperature of blood activates which effector responses?

 (Один ответ)
A) vasoconstriction of arterioles in skin  and sweating                                                    
B) vasodilation of arterioles in skin  and sweating                                                    
C) vasoconstriction of arterioles in skin  and shivering                                                    
D) vasodilation of arterioles in skin  and shivering                                                    

186.  
When a person goes outdoors into a cold environment:

 (Один ответ)
A) the rate of sweat production increases                                                    
B) the thermoregulatory centre in the  hypothalamus is inhibited                                                    
C) blood flow to the skin increases                                                    
D) heat loss is limited and heat-gaining  responses are activated                                                    

187.  
Which drug is not likely to cause toxic epidermal necrolysis?

 (Один ответ)
A) penicillin                                                    
B) trimethoprim                                                    
C) carbamazepine                                                    
D) cimetidine                                                    
E)  piroxicam                                                    

188.  
The term hypothermia refers to:

 (Один ответ)
A) body temperature below the normal range                                                    
B) body temperature above the normal range                                                    
C) heat exhaustion or heat stroke                                                    



D) poor response to thermal challenge                                                    

189.  
Identify the correct sequence of the phases of wound healing:

 (Один ответ)
A) proliferation; inflammation;  epithelialisation; remodelling                                                    
B) remodelling; inflammation; proliferation;  epithelialisation                                                    
C) inflammation; proliferation;  epithelialisation; remodelling                                                    
D) epithelialisation; proliferation;  inflammation; remodelling                                                     

190.  
The term haemostasis refers to:

 (Один ответ)
A) a red pigment in blood cells                                                    
B) bleeding                                                    
C) dialysis of blood                                                    
D) stoppage of blood flow                                                    

191.  
Granulation tissue forms when a wound is healing and is:

 (Один ответ)
A) made by leucocytes (white cells)                                                    
B) a normal and desirable process                                                    
C) an abnormal and undesirable process                                                    
D) due to removal of old blood vessels                                                    

192.  
Which is not a possible cause of a blistered patient?

 (Один ответ)
A) molluscum contagiosum                                                    
B) hand, foot and mouth disease                                                    
C)  eczema herpeticum                                                    
D) allergic contact dermatitis                                                    
E) bites                                                    

193.  
Which is NOT TRUE of staphylococcal scalded skin syndrome?

 (Один ответ)
A) it is most commonly seen in infants                                                    
B) it is toxin mediatied                                                    



C) there is no mucosal invovement                                                    
D) it tends to be less severe than toxic epidermal necrolysis                                                    
E) the focus for infection may be non cutaneous                                                     

194.  
When a person goes outdoors into a cold environment:

 (Один ответ)
A) the rate of sweat production increases                                                    
B) the thermoregulatory centre in the  hypothalamus is inhibited                                                    
C) blood flow to the skin increases                                                    
D) heat loss is limited and heat-gaining  responses are activated                                                    

195.  
Which infectious erythema is purely caused by toxin alone and not from the infectious process 
as well?

 (Один ответ)
A)  toxic shock syndrome                                                    
B) scarlet fever                                                    
C) streptococcal toxic shock syndrome                                                    
D) staphylococcal scalded skin syndrome                                                    
E)  all of the above                                                    

196.  
The term hypothermia refers to:

 (Один ответ)
A) body temperature below the normal range                                                    
B) body temperature above the normal range                                                    
C) heat exhaustion or heat stroke                                                    
D) poor response to thermal challenge                                                    

197.  
Identify the correct sequence of the phases of wound healing:

 (Один ответ)
A) proliferation; inflammation;  epithelialisation; remodelling                                                    
B) remodelling; inflammation; proliferation;  epithelialisation                                                    
C) inflammation; proliferation;  epithelialisation; remodelling                                                    
D) epithelialisation; proliferation;  inflammation; remodelling                                                    

198.  
The term haemostasis refers to:

 (Один ответ)



A) a red pigment in blood cells                                                    
B) bleeding                                                    
C) dialysis of blood                                                    
D) stoppage of blood flow                                                    

199.  
Which rash is not usually itchy?

 (Один ответ)
A) urticaria                                                     
B) eczema                                                    
C)  scabies                                                    
D) bites                                                    
E) scarlet fever                                                    

200.  
Granulation tissue forms when a wound is healing and is:

 (Один ответ)
A) made by leucocytes (white cells)                                                    
B) a normal and desirable process                                                    
C) an abnormal and undesirable process                                                    
D) due to removal of old blood vessels                                                    

201.  
Which is not true of scarlet fever?

 (Один ответ)
A)  the erythema appears very early after the prodrome begins                                                    
B) the rash does not blanche                                                    
C) there is circumoral pallor                                                    
D)  there is often pharyngotonsillitis                                                    
E) there is a strawberry tongue                                                     

202.  
Which organ in the list is the largest of the human body?

 (Один ответ)
A) bone marrow                                                    
B) liver                                                    
C) skin                                                    
D) brain                                                    

203.  
Which transparent layer of the skin does not contain blood vessels?

 (Один ответ)



A) dermis                                                    
B) adipose layer                                                    
C) epidermis                                                    
D) serosa                                                    

204.  
When epidermal cells move towards the surface of skin, they become filled with:

 (Один ответ)
A) immunoglobulin                                                    
B) thrombin                                                    
C) collagen                                                    
D) keratin                                                    

205.  
The function of sebaceous glands is to produce:

 (Один ответ)
A) sebum                                                    
B) sweat                                                    
C) melanin                                                    
D) keratin                                                    

206.  
Which is not one of the five criteria other then fever required to make the diagnosis of Kawasakis 
disease?

 (Один ответ)
A)  cervical LN                                                    
B) peripheral changes. Eg erythema and oedema                                                    
C) bilateral non purulent conjunctivitis                                                    
D) polymorphous rash                                                    
E) pustular tonsillitis                                                    

207.  
The term erythema refers to:

 (Один ответ)
A) function of erythrocytes                                                    
B) increased blood flow to skin                                                    
C) the action of the antibiotic erythromycin                                                    
D) yellowing of skin                                                    

208.  
Deviation from the thermoregulatory set point is detected by:

 (Один ответ)
A) sensory nerve endings in the skin                                                    



B) the liver                                                    
C) skeletal muscles                                                    
D) the hypothalamus                                                    

209.  
Which dose not tend to produce palpable purpura?

 (Один ответ)
A) meningococcus                                                    
B) vasculitis                                                    
C) SLE, rheumatoid arthritis                                                    
D) Clotting disorders                                                    
E) Henoch schonlein purpura                                                     

210.  
Which is not associated with erythema nodosum?

 (Один ответ)
A) sarcoid                                                    
B) crohns disease                                                    
C)  leukemia                                                    
D) salmonella                                                    
E) hep B                                                    

211.  
An increase in the temperature of blood activates which effector responses?

 (Один ответ)
A) vasoconstriction of arterioles in skin  and sweating                                                    
B) vasodilation of arterioles in skin  and sweating                                                    
C) vasoconstriction of arterioles in skin  and shivering                                                    
D) vasodilation of arterioles in skin  and shivering                                                    

212.  
Which is not associated with pyoderma gangrenosum?

 (Один ответ)
A)  IBD                                                    
B)  Rheumatoid arthritis                                                    
C) Leukemia                                                    
D) salmonella                                                    
E) myeloma                                                     

213.  
When a person goes outdoors into a cold environment:



 (Один ответ)
A) the rate of sweat production increases                                                    
B) the thermoregulatory centre in the  hypothalamus is inhibited                                                    
C) blood flow to the skin increases                                                    
D) heat loss is limited and heat-gaining  responses are activated                                                    

214.  
Which is NOT TRUE of pemphigus and pemphigoid?

 (Один ответ)
A) the prognosis of pemphigoid is better                                                    
B) pemphigous lesions are intra dermal where as the lesions in pemphigoid are subdermal                                                    
C) mucosa is more often involved in pemhigous                                                    
D) clinically the two can be usually differentiated with a good examination                                                    
E) they are both autoimmune disorders                                                     

215.  
Which medication does not commonly cause photosensitivity eruptions?

 (Один ответ)
A) thiazide diuretics                                                    
B) spironolactone                                                    
C)  loop diuretics                                                    
D) amioderone                                                    
E) sulfonylureas                                                    

216.  
When a person goes outdoors into a cold environment:

 (Один ответ)
A) the rate of sweat production increases                                                    
B) the thermoregulatory centre in the  hypothalamus is inhibited                                                    
C) blood flow to the skin increases                                                    
D) heat loss is limited and heat-gaining  responses are activated                                                    

217.  
Which medication does not commonly cause photosensitivity eruptions?

 (Один ответ)
A) thiazide diuretics                                                    
B) spironolactone                                                    
C) loop diuretics                                                    
D) amioderone                                                    
E)  sulfonylureas                                                     

218.  
The term hypothermia refers to:



 (Один ответ)
A) body temperature below the normal range                                                    
B) body temperature above the normal range                                                    
C) heat exhaustion or heat stroke                                                    
D) poor response to thermal challenge                                                    

219.  
Identify the correct sequence of the phases of wound healing:

 (Один ответ)
A) proliferation; inflammation;  epithelialisation; remodelling                                                    
B) remodelling; inflammation; proliferation;  epithelialisation                                                    
C) inflammation; proliferation;  epithelialisation; remodelling                                                    
D) epithelialisation; proliferation;  inflammation; remodelling                                                    

220.  
.Which is not true of antiviral medications if given within 72 hours of vesicle formation in herpes 
zoster?

 (Один ответ)
A)  it decreases time to healing                                                    
B) it decreases new lesion formation                                                    
C) it decreases recurrence                                                    
D)  it possibly decreases pain                                                    

221.  
The term haemostasis refers to:

 (Один ответ)
A) a red pigment in blood cells                                                    
B) bleeding                                                    
C) dialysis of blood                                                    
D) stoppage of blood flow                                                    

222.  
Granulation tissue forms when a wound is healing and is:

 (Один ответ)
A) made by leucocytes (white cells)                                                    
B) a normal and desirable process                                                    
C) an abnormal and undesirable process                                                    
D) due to removal of old blood vessels                                                    

223.  
Which is not true of measles?

 (Один ответ)
A)  Koplicks spots are seen a few days after the onset of rash                                                    



B) The rash appears a few days after the prodrome, starting at the head and moving downwards                                                    
C) Unimmunised contacts should be given MMR within 72 hours if over 6 months of age                                                    
D)  If greater than 72 hours immunoglobulin should be given i.m.                                                    

224.  
Which organ in the list is the largest of the human body?

 (Один ответ)
A) bone marrow                                                    
B) liver                                                    
C) skin                                                    
D) brain                                                    

225.  
Which is not true of henoch schonlein purpura?

 (Один ответ)
A) it is a vasculitis of unknown cause                                                    
B) purpura are classically on the lower limbs                                                    
C)  abdominal pain and malena are documented                                                    
D) steroids diminish the likelihood of renal complications                                                     

226.  
What disorder is characterised by an initial ‘herald patch’ which is then followed by scaly 
erythematous plaques usually in a ‘Christmas tree’ distribution?

 (Один ответ)
A) Pityriasis rosea                                                    
B) Herpes                                                    
C) Varicella zoster virus                                                    
D) Erysipelas                                                    

227.  
What is the most common mole found in adults?

 (Один ответ)
A) Junctional nevus                                                    
B) Compound nevus                                                    
C) Intradermal nevus                                                    
D) Congenital nevus                                                    

228.  
What is the infective agent implicated in acne?

 (Один ответ)
A) Staphylococcus aureus                                                    
B) Streptococcus pyogenes                                                    



C) Staphylococcus epidermidis                                                    
D) Propionibacterium acnes                                                    

229.  

What are the histological findings of psoriasis?

 (Один ответ)
A) A: Inflammation of the dermal-epidermal junction                                                     
B)   B Peripheral palisading of basal cells                                                     
C)  C Acanthosis, Parakeratosis and Munro microabscesses                                                    
D)   D Keratin pseudocysts                                                    

230.  
How does impetigo present?

 (Один ответ)
A) A: Golden honey coloured crust over an erythematous base                                                     
B)   B Salmon coloured plaque with silvery scale                                                     
C)   C Comedones, pustules and nodules                                                      
D)   D Flesh coloured papule with a rough surface                                                    

231.  
What condition is associated with this presentation? A pink pearly nodule with telangiectasias, 
ulceration and rolled borders on the upper lip.

 (Один ответ)
A) Squamous cell carcinoma                                                    
B) Basal cell carcinoma                                                    
C) Melanoma                                                    
D)  Eczema                                                    

232.  
What is Leser-Trélat sign?

 (Один ответ)
A) Sudden appearance of multiple seborrhoeic keratoses and is an indicator of a gastrointestinal 
tract carcinoma.                                                    
B) A left supraclavicular node associated with gastric carcinoma                                                    
C) Metastasis of gastric carcinoma to the periumbilical region                                                    
D) Metastasis of gastric carcinoma to the bilateral ovaries                                                    

233.  
What is the most common causative agent of erythema multiforme (EM)?

 (Один ответ)
A) Penicillin and sulphonamides                                                    



B) Systemic lupus erythematosus                                                    
C) HSV infection                                                    
D) Malignancy                                                    

234.  
What is the best indicator of prognosis for a melanoma?

 (Один ответ)
A) A: Asymmetry                                                     
B)   B Colour                                                      
C)   C Diameter                                                      
D)   D Invasion of the dermi                                                    

235.  
What type of melanoma is often seen in dark skinned individuals?

 (Один ответ)
A) Superficial spreading                                                    
B) Lentigo maligna melanoma                                                    
C) Nodular                                                    
D) Acral lentiginous                                                    

236.  
What skin condition is caused by poxvirus?

 (Один ответ)
A) Verruca                                                    
B) Molluscum contagiosum                                                    
C) Impetigo                                                    
D) Cellulitis                                                    

237.  
How does lichen planus present clinically?

 (Один ответ)
A) A: Salmon coloured plaques with silvery scale                                                     
B)  red, oozing rash with edema                                                    
C)  C Golden coloured crusts                                                     
D)   D Pruritic, purple, polygonal, planar papules and plaques                                                    

238.  
An elderly lady presents to her doctor with a raised, round discoloured plaque, ‘stuck on 
appearance’ on her face. What skin condition is this?

 (Один ответ)
A) Rubella                                                    
B) Seborrheic keratosis                                                    
C) Basal cell carcinoma                                                    



D) Melasma                                                    

239.  
What is a precursor to squamous cell carcinoma (SCC)?

 (Один ответ)
A) Keratoacanthoma                                                    
B) Actinic keratosis                                                    
C) Leser-Trélat sign                                                    
D) Measles                                                    

240.  
What is the pathogenesis of pemphigus vulgaris?

 (Один ответ)
A) A: IgG antibody against desmoglein                                                    
B)   B IgG antibody against hemidesmosome components                                                     
C)  C Autoimmune deposition of IgA at tips of dermal papillae                                                      
D)   D Enzyme defect in tyrosinase                                                    

241.  
What is the pathogenesis of vitiligo?

 (Один ответ)
A) A: Congenital lack of pigmentation                                                      
B)  B Increase in the number of melanosomes                                                     
C)   C Autoimmune destruction of melanocytes                                                     
D)   D Benign proliferation of melanocytes                                                    

242.  
What are the histological findings of psoriasis?

 (Один ответ)
A) Inflammation of the dermal-epidermal junction                                                    
B) Peripheral palisading of basal cells                                                    
C) Acanthosis, Parakeratosis and Munro microabscesses                                                    
D) Keratin pseudocysts                                                    

243.  
How does impetigo present?

 (Один ответ)
A) Golden honey coloured crust over an erythematous base                                                    
B) Salmon coloured plaque with silvery scale                                                    
C) Comedones, pustules and nodules                                                    
D) Flesh coloured papule with a rough surface                                                    

244.  



What condition is associated with acanthosis nigricans?

 (Один ответ)
A) A: Type 2 diabetes and gastric adenocarcinoma                                                     
B)   B Rubella                                                      
C)   C Varicella zoster                                                     
D)   D Basal cell carcinoma                                                    

245.  
What is the best indicator of prognosis for a melanoma?

 (Один ответ)
A) Asymmetry                                                    
B) Colour                                                    
C) Diameter                                                    
D) Invasion of the dermis                                                    

246.  
What childhood infection is associated with Koplik spots?

 (Один ответ)
A) A: Measles                                                      
B)   B Rubella                                                    
C) a  C Varicella                                                     
D)   D Fifth disease                                                    

247.  
How does lichen planus present clinically?

 (Один ответ)
A) Salmon coloured plaques with silvery scale                                                    
B) Pruritic, red, oozing rash with edema                                                    
C) Golden coloured crusts                                                    
D) Pruritic, purple, polygonal, planar papules and plaque                                                    

248.  
What is the pathogenesis of pemphigus vulgaris?

 (Один ответ)
A) IgG antibody against desmoglein                                                    
B) IgG antibody against hemidesmosome components                                                    
C) Autoimmune deposition of IgA at tips of dermal papillae                                                    
D) Enzyme defect in tyrosinase                                                    

249.  
What disease is associated with dermatitis herpetiformis?

 (Один ответ)



A) A: Herpes                                                     
B)   B Coeliac disease                                                      
C)   C Atopic dermatitis                                                      
D)   D Melanoma                                                    

250.  
What is the pathogenesis of vitiligo?

 (Один ответ)
A) Congenital lack of pigmentation                                                    
B) Increase in the number of melanosomes                                                    
C) Autoimmune destruction of melanocytes                                                    
D) Benign proliferation of melanocytes                                                    

251.  
. All of the following statements about erythroderma are true EXCEPT

 (Один ответ)
A) a) There is > 90% body surface involvement                                                     
B)   b) It is more common in males                                                     
C)  c) The most common cause is drug reaction                                                    
D)   d) High output cardiac failure is a recognised sequelae                                                    

252.  
What condition is associated with acanthosis nigricans?

 (Один ответ)
A) Type 2 diabetes and gastric adenocarcinoma                                                    
B) Rubella                                                    
C) Varicella zoster                                                    
D) Basal cell carcinoma                                                    

253.  
What childhood infection is associated with Koplik spots?

 (Один ответ)
A) Measles                                                    
B) Rubella                                                    
C) Varicella                                                    
D) Fifth disease                                                    

254.  
. The feature you would NOT expect to find in a case of erythema multiforme after cefaclor use is

 (Один ответ)
A) a) Itch                                                     
B)  b) Target lesions                                                     



C)   b) Target lesions                                                      
D)   c) No cross sensitivity with cefotaxime                                                    

255.  
What disease is associated with dermatitis herpetiformis?

 (Один ответ)
A) Herpes                                                    
B) Coeliac disease                                                    
C) Atopic dermatitis                                                    
D) Melanoma                                                    

256.  
. Which of the following features is consistent with scarlet fever

 (Один ответ)
A) a) Punctate rash on neck and truck                                                    
B)   b) Perioral erythema                                                      
C)   c) Geographic tongue                                                      
D) e  d) Resolution without desquamation                                                    

257.  
All of the following statements about erythroderma are true EXCEPT

 (Один ответ)
A) There is > 90% body surface involvement                                                    
B) It is more common in males                                                    
C) The most common cause is drug reaction                                                    
D) High output cardiac failure is a recognised sequelae                                                    

258.  
. Erythema Nodosum is an example of

 (Один ответ)
A) a) Panniculitis                                                     
B)   b) Vasculitis                                                     
C)  Serum sickness                                                     
D)   d) Erythroderma                                                    

259.  
In what dermatological condition is a Tsanck smear used to aid diagnosis?

 (Один ответ)
A) Skin lesions of meningococcus                                                    
B) Herpes vesicular lesions                                                    
C) Secondary syphilis                                                    
D) Urticaria                                                    



260.  
Which is not true of erythema multiforme?

 (Один ответ)
A) classically there are target lesions, especially on the periphery                                                    
B) there tends to be associated fever and arthralgia                                                    
C) it settles within 7-10 days if left untreated                                                    
D) steroids orally quicken the recovery                                                    

261.  
Which drug is not likely to cause toxic epidermal necrolysis?

 (Один ответ)
A) penicillin                                                    
B) trimethoprim                                                    
C) carbamazepine                                                    
D) cimetidine                                                    

262.  
. Geographic tongue is caused by

 (Один ответ)
A) a) Kawasaki disease                                                     
B)   c) Acromegaly                                                    
C)   d) Pernicious anaemia                                                      
D)   e) None of the above                                                    

263.  
. The toxic reaction you would least expect with bupivocaive is

 (Один ответ)
A) a) Anaphylaxis                                                      
B) s b) Sense of impending doom                                                     
C)  c) Fitting                                                      
D)   d) Arrythmia                                                    

264.  
Which is not a possible cause of a blistered patient?

 (Один ответ)
A) molluscum contagiosum                                                    
B) hand, foot and mouth disease                                                    
C) eczema herpeticum                                                    
D) allergic contact dermatitis                                                    

265.  
. Which of the following is associated with a lower incidence of wound infection (given 
adequately cleaned



wounds)

 (Один ответ)
A) a) Steristrips                                                    
B)   b) Staples                                                      
C)  d) Antibiotics for puncture wounds                                                     
D)   e) All of the above                                                    

266.  
Which is NOT TRUE of staphylococcal scalded skin syndrome?

 (Один ответ)
A) it is most commonly seen in infants                                                    
B) it is toxin mediatied                                                    
C) there is no mucosal invovement                                                    
D) it tends to be less severe than toxic epidermal necrolysis                                                    

267.  
What is the most common causative agent of erythema multiforme (EM)?

 (Один ответ)
A) A: Penicillin and sulphonamides                                                    
B) B Systemic lupus erythematosus                                                    
C) C HSV infection                                                    
D)  Malignancy                                                    

268.  
Which infectious erythema is purely caused by toxin alone and not from the infectious process 
as well?

 (Один ответ)
A) toxic shock syndrome                                                    
B) scarlet fever                                                    
C) streptococcal toxic shock syndrome                                                    
D) staphylococcal scalded skin syndrome                                                    

269.  
. Which of the following is not associated with poor wound healing

 (Один ответ)
A) a) Lower limb lacerations in the elderly                                                    
B)  b) Broad based flap lacerations                                                     
C)   c) Long flap lacerations                                                      
D)   d) Haematoma beneath a flap laceration                                                    

270.  
Which rash is not usually itchy?



 (Один ответ)
A) eczema                                                    
B) scabies                                                    
C) bites                                                    
D) scarlet fever                                                    

271.  
What type of melanoma is often seen in dark skinned individuals?

 (Один ответ)
A) A: Superficial spreading                                                    
B) B Lentigo maligna melanoma                                                    
C) C Nodular                                                    
D) D Acral lentiginous                                                    

272.  
What skin condition is caused by poxvirus

 (Один ответ)
A) A: Verruca                                                     
B)  B Molluscum contagiousm                                                    
C) C Impetigo                                                      
D)  D Cellulitis                                                    

273.  
If a patient presents with DIC after dog bite the likely organism would be

 (Один ответ)
A) a) Pseudomonas Aeruginosa                                                      
B)   b) Staphylococcus Aureus                                                     
C)  c) Streptococcus Viridans                                                     
D)   d) Capnocytophaga Caniniosus                                                    

274.  
Which is not true of scarlet fever?

 (Один ответ)
A) the erythema appears very early after the prodrome begins                                                    
B) the rash does not blanche                                                    
C) there is circumoral pallor                                                    
D) there is often pharyngotonsillitis                                                    

275.  
Which wound does not require antibiotic prohylaxis upon discharge (assuming seen within 3 
hours and appropriate wound care applied)?

 (Один ответ)



A) f) axillary                                                    
B) e) plantar puncture wounds                                                    
C) d) all cat bites                                                    
D) b) complicated dog bites                                                    

276.  
. Which sort of puncture wound is prone to unusual infection not covered by the above regimen? 
What is the

organism involved?

 (Один ответ)
A) a) nail                                                      
B)  b) glass                                                     
C)  c) through athletic footwear                                                    
D) none                                                    

277.  
Which is not one of the five criteria other then fever required to make the diagnosis of Kawasakis 
disease?

 (Один ответ)
A) peripheral changes. Eg erythema and oedema                                                    
B) bilateral non purulent conjunctivitis                                                    
C) polymorphous rash                                                    
D) pustular tonsillitis                                                    

278.  
. Which antibiotic regimen is recommended in antibiotic guidelines for bites with a high risk of 
infection?

 (Один ответ)
A) a) augmentin duo forte                                                      
B)  b) penicillin                                                      
C)  c) ampicillin                                                    
D)   d) cephalexin                                                    

279.  
. Which rash is not characteristically found on the hands?

 (Один ответ)
A) a) secondary syphilis                                                      
B)  c) gonococcus                                                    
C)  d) meningococcus                                                    
D)   e) herpes simple                                                    

280.  
Which dose not tend to produce palpable purpura?



 (Один ответ)
A) meningococcus                                                    
B) vasculitis                                                    
C) SLE, rheumatoid arthritis                                                    
D) Clotting disorders                                                    

281.  
Human bites to what area have the highest rate of infection?

 (Один ответ)
A) a) face                                                    
B)  b) arm                                                      
C)  c) shin                                                    
D) none                                                    

282.  
Which is not associated with erythema nodosum?

 (Один ответ)
A) crohns disease                                                    
B) leukemia                                                    
C) salmonella                                                    
D) hep B                                                    

283.  
. In what dermatological condition is a Tsanck smear used to aid diagnosis?

 (Один ответ)
A) a) Skin lesions of meningococcu                                                    
B)   b) Herpes vesicular lesion                                                    
C)   c) Secondary syphilis                                                    
D)   d) Urticaria                                                    

284.  
Which is not readily seen on Xray?

 (Один ответ)
A) a) all glass greater than 2mm                                                    
B)  b) gravel                                                      
C)  c) teeth                                                      
D) none                                                    

285.  
Which is not associated with pyoderma gangrenosum?

 (Один ответ)
A) IBD                                                    



B) Rheumatoid arthritis                                                    
C) Leukemia                                                    
D) salmonella                                                    

286.  
Which is NOT TRUE of pemphigus and pemphigoid?

 (Один ответ)
A) the prognosis of pemphigoid is better                                                    
B) pemphigous lesions are intra dermal where as the lesions in pemphigoid are subdermal                                                    
C) mucosa is more often involved in pemhigous                                                    
D) clinically the two can be usually differentiated with a good examination                                                    

287.  
. At which distance should two point discrimination be possible?

 (Один ответ)
A) a) 2mm                                                    
B) b) 5mm                                                      
C)   c) 7.5mm                                                    
D) all of the above                                                    

288.  
. Which is not true of erythema multiforme?

 (Один ответ)
A)  b) classically there are target lesions, especially on the periphery                                                      
B) a) less than 30% of the skin must be blistered to make this diagnosis                                                     
C)  c) there tends to be associated fever and arthralgia                                                      
D)   e) steroids orally quicken the recovery                                                    

289.  
Which is the usual causative organism in toxic shock syndrome?

 (Один ответ)
A) staph aureus                                                    
B) e coli                                                    
C) pneumococcus                                                    
D) strep pyogenes                                                    

290.  
Which is false regarding staples?

 (Один ответ)
A) a) they have a higher rate of infection than sutures                                                    



B) b) they are cheaper than sutures                                                    
C) c) they are quicker to insert than sutures                                                    
D) all of the above                                                    

291.  
Which drug is not likely to cause toxic epidermal necrolysis?

 (Один ответ)
A) a) penicillin                                                      
B)   b) trimethoprim                                                     
C)   c) carbamazepine                                                    
D)   d) cimetidine                                                    

292.  
Which medication does not commonly cause photosensitivity eruptions?

 (Один ответ)
A) thiazide diuretics                                                    
B) spironolactone                                                    
C) loop diuretics                                                    
D) amioderone                                                    

293.  
. Which suture should be used for wounds at risk of infection?

 (Один ответ)
A) a) monofilament, natur                                                    
B)   b) monafilament, synthetic                                                      
C)  c) multifilament, natural                                                    
D) none                                                    

294.  
Which is not true of antiviral medications if given within 72 hours of vesicle formation in herpes 
zoster?

 (Один ответ)
A) it decreases time to healing                                                    
B) it decreases new lesion formation                                                    
C) it decreases recurrence                                                    
D) it possibly decreases pain                                                    

295.  
Which is not a possible cause of a blistered patient?

 (Один ответ)
A) a) molluscum contagiosum                                                     
B)   b) hand, foot and mouth disease                                                     
C)   c) eczema herpeticum                                                    



D)   d) allergic contact dermatitis                                                    

296.  
Which is not true of measles?

 (Один ответ)
A) Koplicks spots are seen a few days after the onset of rash                                                    
B) The rash appears a few days after the prodrome, starting at the head and moving downwards                                                    
C) Unimmunised contacts should be given MMR within 72 hours if over 6 months of age                                                    
D) If greater than 72 hours immunoglobulin should be given i.m.                                                    

297.  
. Which wound is most likely to produce tetanus?

 (Один ответ)
A) a) Intraoral laceration                                                    
B) c) crush injury to distal phalynx                                                    
C) d) frostbite                                                    
D) e) puncture wounds                                                    

298.  
Which is not true of henoch schonlein purpura?

 (Один ответ)
A) purpura are classically on the lower limbs                                                    
B) abdominal pain and malena are documented                                                    
C) renal disease is a potentially serious complication                                                    
D) steroids diminish the likelihood of renal complications                                                    

299.  
Which is NOT TRUE of staphylococcal scalded skin syndrome?

 (Один ответ)
A) a) it is most commonly seen in infants                                                     
B)   b) it is toxin mediatied                                                     
C)   c) there is no mucosal invovement                                                     
D)   d) it tends to be less severe than toxic epidermal necrolysis                                                    

300.  
. Which is the correct regimen for wound irrigation?

 (Один ответ)
A) a) 21 gauge needle, 50 ml syringe                                                    
B) b) 21 gauge needle, 20 ml syringe                                                    
C) c) 19 gauge needle, 50 ml syringe                                                    
D) d) 19 gauge needle, 20 ml syringe                                                    

301.  



How many days it take a wound to reach 100% of its original tensile strength?

 (Один ответ)
A) 40                                                    
B) 100                                                    
C) 150                                                    
D) 250                                                    

302.  
. Which is the best irrigation fluid for most wounds?

 (Один ответ)
A) a) normal saline                                                      
B)  b) povodine – iodine                                                      
C) c) aquesous chlorhexidine                                                    
D) d) chlorhexidine with cetramide                                                    

303.  
. Which infectious erythema is purely caused by toxin alone and not from the infectious process 
as well?

 (Один ответ)
A) a) toxic shock syndrome                                                     
B)  b) scarlet fever                                                     
C)  c) streptococcal toxic shock syndrome                                                      
D)   d) staphylococcal scalded skin syndrome                                                    

304.  
. Which imaging modality is most successful at detecting suspected foreign bodies in wounds?

 (Один ответ)
A) a) normal plain xray                                                      
B)  b) plain xray ‘soft tissue view’                                                     
C) c) ultrasound                                                     
D)   d) CT                                                    

305.  
How many days it take a wound to reach 100% of its original tensile strength?

 (Один ответ)
A) a) 40                                                      
B)  b) 100                                                     
C) c) 150                                                    
D) d) 250                                                    

306.  
Which imaging modality is most successful at detecting suspected foreign bodies in wounds?



 (Один ответ)
A) normal plain xray                                                    
B) plain xray ‘soft tissue view’                                                    
C) ultrasound                                                    
D) CT                                                    

307.  
Which rash is not usually itchy?

 (Один ответ)
A) a) urticaria                                                      
B) a  b) eczema                                                      
C)   d) bites                                                      
D)   e) scarlet fever                                                    

308.  
Which is not true of henoch schonlein purpura?

 (Один ответ)
A) a) it is a vasculitis of unknown cause                                                    
B) c) abdominal pain and malena are documented                                                    
C) d) renal disease is a potentially serious complication                                                    
D) e) steroids diminish the likelihood of renal complications                                                    

309.  
Which is the best irrigation fluid for most wounds?

 (Один ответ)
A) normal saline                                                    
B) povodine – iodine                                                    
C) aquesous chlorhexidine                                                    
D) chlorhexidine with cetramide                                                    

310.  
Which is not true of antiviral medications if given within 72 hours of vesicle formation in herpes 
zoster?

 (Один ответ)
A) a) it decreases time to healing                                                    
B) b) it decreases new lesion formation                                                    
C) c) it decreases recurrence                                                    
D) d) it possibly decreases pain                                                    

311.  
Which is the correct regimen for wound irrigation?



 (Один ответ)
A) 21 gauge needle, 50 ml syringe                                                    
B) 21 gauge needle, 20 ml syringe                                                    
C) 19 gauge needle, 50 ml syringe                                                    
D) 19 gauge needle, 20 ml syringe                                                    

312.  
Which is not true of scarlet fever?

 (Один ответ)
A) a) the erythema appears very early after the prodrome begins                                                     
B)   b) the rash does not blanche                                                      
C)   c) there is circumoral pallor                                                     
D)   d) there is often pharyngotonsillitis                                                    

313.  
Which medication does not commonly cause photosensitivity eruptions?

 (Один ответ)
A) a) thiazide diuretics                                                     
B)  b) spironolactone                                                      
C)  c) loop diuretics                                                    
D) all of the above                                                    

314.  
When antibiotics are given for a wound with a high risk of infection, how should they be given in 
the ED?

 (Один ответ)
A) orally prior to wound manipulation, with discharge prescription                                                    
B) iv prior to wound manipulation, with discharge prescription                                                    
C) a prescription to be filled on discharge                                                    
D) both A and B give the same result                                                    

315.  
. Which is the usual causative organism in toxic shock syndrome?

 (Один ответ)
A) a) staph aureus                                                     
B)  b) e coli                                                      
C) c) pneumococcus                                                      
D)  d) strep pyogenes                                                    

316.  
. Which is not one of the five criteria other then fever required to make the diagnosis of 
Kawasakis disease?

 (Один ответ)
A) a) cervical LN  b) peripheral changes. Eg erythema and oedema                                                     



B)   c) bilateral non purulent conjunctivitis                                                     
C)   d) polymorphous rash                                                     
D)  e) pustular tonsillitis                                                    

317.  
Which wound is most likely to produce tetanus?

 (Один ответ)
A) scalp laceration with underlying skull fracture                                                    
B) crush injury to distal phalynx                                                    
C) frostbite                                                    
D) puncture wounds                                                    

318.  
Which is NOT TRUE of pemphigus and pemphigoid?

 (Один ответ)
A) a) the prognosis of pemphigoid is better                                                    
B) b) pemphigous lesions are intra dermal where as the lesions in pemphigoid are subdermal                                                    
C) c) mucosa is more often involved in pemhigous                                                    
D) d) clinically the two can be usually differentiated with a                                                    

319.  
. Which is not associated with pyoderma gangrenosum

 (Один ответ)
A) a) IBD                                                    
B)  b) Rheumatoid arthritis                                                      
C)  c) Leukemia                                                     
D) d) salmonella                                                    

320.  
Which suture should be used for wounds at risk of infection?

 (Один ответ)
A) monofilament, natural                                                    
B) monafilament, synthetic                                                    
C) multifilament, natural                                                    
D) multifilament, synthetic                                                    

321.  
Which is not associated with erythema nodosum?

 (Один ответ)
A) a) sarcoid  b) crohns disease                                                      
B)  c) leukemia                                                      
C)  d) salmonell                                                    



D)  e) hep B                                                    

322.  
Which dose not tend to produce palpable purpura?

 (Один ответ)
A) a) meningococcus                                                    
B)   b) vasculitis                                                     
C) s  c) SLE, rheumatoid arthritis                                                     
D)   d) Clotting disorders                                                    

323.  
Which dose not tend to produce palpable purpura

 (Один ответ)
A) a) meningococcus                                                     
B) b) vasculitis                                                      
C)  c) SLE, rheumatoid arthritis                                                      
D)  d) Clotting disorders                                                    

324.  
Which is false regarding staples?

 (Один ответ)
A) they have a higher rate of infection than sutures                                                    
B) they are cheaper than sutures                                                    
C) they are quicker to insert than sutures                                                    
D) they are more painful to remove than sutures                                                    

325.  
At which distance should two point discrimination be possible?

 (Один ответ)
A) 2mm                                                    
B) 5mm                                                    
C) 7.5mm                                                    
D) 10mm                                                    

326.  
. Which is not one of the five criteria other then fever required to make the diagnosis of 
Kawasakis disease?

 (Один ответ)
A) a) cervical LN                                                    
B) b) peripheral changes. Eg erythema and oedema                                                    
C) c) bilateral non purulent conjunctivitis                                                    
D) d) polymorphous rash                                                    
E) e) pustular tonsilli                                                    



327.  
Which is not associated with erythema nodosum?

 (Один ответ)
A) a) sarcoid                                                     
B)   c) leukemia                                                     
C)   d) salmonell                                                    
D)  e) hep B                                                    

328.  
Which is not readily seen on Xray?

 (Один ответ)
A) all glass greater than 2mm                                                    
B) gravel                                                    
C) teeth                                                    
D) fish bone                                                    

329.  
Which is not true of scarlet fever?

 (Один ответ)
A) a) the erythema appears very early after the prodrome begins                                                    
B) b) the rash does not blanche                                                    
C) c) there is circumoral pallor                                                    
D) d) there is often pharyngotonsillitis                                                    

330.  
. Which is not associated with pyoderma gangrenosum?

 (Один ответ)
A) a) IBD                                                    
B)   b) Rheumatoid arthritis                                                      
C)   c) Leukemia                                                    
D) d) salmonella                                                    

331.  
Human bites to what area have the highest rate of infection?

 (Один ответ)
A) arm                                                    
B) shin                                                    
C) back                                                    
D) hand                                                    

332.  
Which rash is not usually itchy?



 (Один ответ)
A) a) urticaria                                                     
B) b) eczema                                                      
C)   c) scabies                                                     
D) s  e) scarlet fever                                                    

333.  
Regarding bites which is false?

 (Один ответ)
A) all hand bites (animal and human) should be managed by delayed primary closure or 
secondary  intention                                                    
B) primary wound closure to the head and neck is acceptable after appropriate wound irrigation                                                    
C) wounds less than1-2 cm have a lower rate of infection and can be safely treated with primary 
closure                                                    
D) infection with pasturella multicodia is specific to cat bites                                                    

334.  
Which infectious erythema is purely caused by toxin alone and not from the infectious process 
as well?

 (Один ответ)
A) a) toxic shock syndrome                                                    
B) b) scarlet fever                                                    
C) c) streptococcal toxic shock syndrome                                                    
D) d) staphylococcal scalded skin syndrome                                                    

335.  
Which antibiotic regimen is recommended in antibiotic guidelines for bites with a high risk of 
infection?

 (Один ответ)
A) augmentin duo forte                                                    
B) penicillin                                                    
C) ampicillin                                                    
D) cephalexin                                                    

336.  
. Which is NOT TRUE of staphylococcal scalded skin syndrome?

 (Один ответ)
A) a) it is most commonly seen in infants                                                    
B) b) it is toxin mediatied                                                    
C) ) there is no mucosal invovement                                                    
D) d) it tends to be less severe than toxic epidermal necrolysis                                                    

337.  



. Which is NOT TRUE of pemphigus and pemphigoid?

 (Один ответ)
A) a) the prognosis of pemphigoid is better                                                     
B)  b) pemphigous lesions are intra dermal where as the lesions in pemphigoid are subdermal                                                      
C) l  c) mucosa is more often involved in pemhigous                                                    
D) s  d) clinically the two can be usually differentiated with a good examination                                                    

338.  
. Which is not a possible cause of a blistered patient?

 (Один ответ)
A) a) molluscum contagiosum                                                      
B)  b) hand, foot and mouth disease                                                    
C) c) eczema herpeticum                                                      
D)  d) allergic contact dermatitis                                                    

339.  
. Which drug is not likely to cause toxic epidermal necrolysis

 (Один ответ)
A) a) penicillin                                                      
B)  b) trimethoprim                                                      
C)   c) carbamazepine                                                     
D)  d) cimetidine                                                    

340.  
In what dermatological condition is a Tsanck smear used to aid diagnosis?

 (Один ответ)
A) a) Skin lesions of meningococcus                                                      
B)  b) Herpes vesicular lesions                                                      
C) c) Secondary syphilis                                                    
D) all of the above                                                    

341.  
Which rash is not characteristically found on the hands?

 (Один ответ)
A) a) secondary syphilis                                                     
B)   b) erythema multiforme                                                      
C) c) gonococcus                                                      
D) d) herpes simple                                                    

342.  
. Which is the usual causative organism in toxic shock syndrome?



 (Один ответ)
A) a) staph aureu                                                    
B)  b) e coli                                                     
C)  c) pneumococcu                                                    
D)   d) strep pyogenes                                                    

343.  
If a patient presents with DIC after dog bite the likely organism would be

 (Один ответ)
A) a) Pseudomonas Aeruginosa                                                    
B) b) Staphylococcus Aureus                                                    
C) c) Streptococcus Viridans                                                    
D) d) Capnocytophaga Caniniosus                                                    

344.  
Which sort of puncture wound is prone to unusual infection not covered by the above regimen? 
What is the organism involved?

 (Один ответ)
A) nail                                                    
B) glass                                                    
C) through athletic footwear                                                    
D) through leather soles                                                    

345.  
Which medication does not commonly cause photosensitivity eruptions?

 (Один ответ)
A)   c) loop diuretics                                                    
B)  b) spironolactone                                                     
C) a) thiazide diuretics                                                     
D)   e) sulfonylureas                                                    

346.  
What childhood infection is associated with Koplik spots

 (Один ответ)
A)   B Rubella                                                     
B)  C Varicella                                                      
C)  D Fifth disease                                                    
D) none                                                    

347.  
Which wound does not require antibiotic prohylaxis upon discharge (assuming seen within 3 
hours and appropriate wound care applied)?



 (Один ответ)
A) complicated human bites                                                    
B) all cat bites                                                    
C) plantar puncture wounds                                                    
D) axillary                                                    

348.  

What conditon is associated with acanthosis nigricans

 (Один ответ)
A) A: Type 2 diabetes and gastric adenocarcinoma                                                      
B)  B Rubella                                                      
C) C Varicella zoster                                                     
D)  D Basal cell carcinoma                                                    

349.  
. Which is not true of antiviral medications if given within 72 hours of vesicle formation in herpes 
zoster?

 (Один ответ)
A) a) it decreases time to healing                                                      
B)   b) it decreases new lesion formation                                                    
C) c) it decreases recurrence                                                    
D)   d) it possibly decreases pain                                                    

350.  
What is the pathogenesis of vitiligo?

 (Один ответ)
A) A: Congenital lack of pigmentation                                                      
B) B Increase in the number of melanosom                                                    
C)  C Autoimmune destruction of melanocytes                                                    
D) all of the above                                                    

351.  
Which medication does not commonly cause photosensitivity eruptions?

 (Один ответ)
A) thiazide diuretics                                                    
B) spironolactone                                                    
C) loop diuretics                                                    
D) amioderone                                                    

352.  
What is the pathogenesis of pemphigus vulgaris?

 (Один ответ)



A) B IgG antibody against hemidesmosome components                                                    
B) A: IgG antibody against desmoglein                                                    
C) C Autoimmune deposition of IgA at tips of dermal papillae                                                    
D) all of the above                                                    

353.  
Which is not true of antiviral medications if given within 72 hours of vesicle formation in herpes 
zoster?

 (Один ответ)
A) it decreases time to healing                                                    
B) it decreases new lesion formation                                                    
C) it decreases recurrence                                                    
D) it possibly decreases pain                                                    

354.  
How does lichen planus present clinically?

 (Один ответ)
A) A: Salmon coloured plaques with silvery scale                                                    
B) B Pruritic, red, oozing rash with edema                                                    
C) C Golden coloured crusts                                                    
D) none                                                    

355.  
Which is not true of measles?

 (Один ответ)
A) Koplicks spots are seen a few days after the onset of rash                                                    
B) The rash appears a few days after the prodrome, starting at the head and moving downwards                                                    
C) Unimmunised contacts should be given MMR within 72 hours if over 6 months of age                                                    
D) If greater than 72 hours immunoglobulin should be given i.m.                                                    

356.  
What is the best indicator of prognosis for a melanoma?

 (Один ответ)
A) A: Asymmetry                                                      
B)  B Colour                                                      
C) C Diameter                                                      
D) D Invasion of the dermis                                                    

357.  
Which is not true of henoch schonlein purpura?

 (Один ответ)
A) purpura are classically on the lower limbs                                                    
B) abdominal pain and malena are documented                                                    
C) renal disease is a potentially serious complication                                                    



D) steroids diminish the likelihood of renal complications                                                    

358.  
What is the best indicator of prognosis for a melanoma?

 (Один ответ)
A)  a. Diameter                                                     
B) B Colour                                                     
C)  D Invasion of the dermis                                                    
D) none                                                    

359.  
What is a precursor to squamous cell carcinoma (SCC)?

 (Один ответ)
A) A: Keratoacanthoma                                                      
B)  B Actinic keratosis                                                     
C)  C Leser-Trélat sign                                                    
D) none                                                    

360.  
An elderly lady presents to her doctor with a raised, round discoloured plaque, ‘stuck on 
appearance’ on her face. What skin condition is

 (Один ответ)
A) A: Rubel                                                    
B) B Seborrheic keratosis                                                     
C)   C Basal cell carcinoma                                                    

361.  
Which transparent layer of the skin does not contain blood vessels?

 (Один ответ)
A) dermis                                                    
B) adipose layer                                                    
C) epidermis                                                    
D) serosa                                                    

362.  
When epidermal cells move towards the surface of skin, they become filled with:

 (Один ответ)
A) immunoglobulin                                                    
B) thrombin                                                    
C) collagen                                                    
D) keratin                                                    

363.  



The function of sebaceous glands is to produce:

 (Один ответ)
A) sebum                                                    
B) sweat                                                    
C) melanin                                                    
D) keratin                                                    

364.  
How many days it take a wound to reach 100% of its original tensile strength?

 (Один ответ)
A) 40                                                    
B)  100                                                    
C)  150                                                    
D) 250                                                    

365.  
The term erythema refers to:

 (Один ответ)
A) function of erythrocytes                                                    
B) increased blood flow to skin                                                    
C) the action of the antibiotic erythromycin                                                    
D) yellowing of skin                                                    

366.  
Deviation from the thermoregulatory set point is detected by:

 (Один ответ)
A) sensory nerve endings in the skin                                                    
B) the liver                                                    
C) skeletal muscles                                                    
D) the hypothalamus                                                    

367.  
Which imaging modality is most successful at detecting suspected foreign bodies in wounds?

 

 (Один ответ)
A)  normal plain xray                                                    
B) plain xray ‘soft tissue view’                                                    
C) ultrasound                                                    
D) CT                                                    

368.  
Which is the best irrigation fluid for most wounds?



 (Один ответ)
A) normal saline                                                    
B) povodine – iodine                                                    
C) aquesous chlorhexidine                                                    
D) chlorhexidine with cetramide                                                    

369.  
An increase in the temperature of blood activates which effector responses?

 (Один ответ)
A) vasoconstriction of arterioles in skin  and sweating                                                    
B) vasodilation of arterioles in skin  and sweating                                                    
C) vasoconstriction of arterioles in skin  and shivering                                                    
D) vasodilation of arterioles in skin  and shivering                                                    

370.  
Which is the correct regimen for wound irrigation?

 (Один ответ)
A)  21 gauge needle, 50 ml syringe                                                    
B)  21 gauge needle, 20 ml syringe                                                    
C) 19 gauge needle, 50 ml syringe                                                    
D) 19 gauge needle, 20 ml syringe                                                    

371.  
When a person goes outdoors into a cold environment:

 (Один ответ)
A) the rate of sweat production increases                                                    
B) the thermoregulatory centre in the  hypothalamus is inhibited                                                    
C) blood flow to the skin increases                                                    
D) heat loss is limited and heat-gaining  responses are activated                                                    

372.  
When antibiotics are given for a wound with a high risk of infection, how should they be given in 
the ED?

 (Один ответ)
A) orally prior to wound manipulation, with discharge prescription                                                    
B) iv prior to wound manipulation, with discharge prescription                                                    
C) a prescription to be filled on discharge                                                    
D) both A and B give the same result                                                    

373.  
Which wound is most likely to produce tetanus?

 (Один ответ)



A)  Intraoral laceration                                                    
B) scalp laceration with underlying skull fracture                                                    
C) crush injury to distal phalynx                                                    
D) puncture wounds                                                     

374.  
The term hypothermia refers to:

 (Один ответ)
A) body temperature below the normal range                                                    
B) body temperature above the normal range                                                    
C) heat exhaustion or heat stroke                                                    
D) poor response to thermal challenge                                                    

375.  
Which suture should be used for wounds at risk of infection?

 (Один ответ)
A) monofilament, natural                                                    
B) monafilament, synthetic                                                    
C) multifilament, natural                                                    
D) multifilament, synthetic                                                    

376.  
Identify the correct sequence of the phases of wound healing:

 (Один ответ)
A) proliferation; inflammation;  epithelialisation; remodelling                                                    
B) remodelling; inflammation; proliferation;  epithelialisation                                                    
C) inflammation; proliferation;  epithelialisation; remodelling                                                    
D) epithelialisation; proliferation;  inflammation; remodelling                                                    

377.  
The term haemostasis refers to:

 (Один ответ)
A) a red pigment in blood cells                                                    
B) bleeding                                                    
C) dialysis of blood                                                    
D) stoppage of blood flow                                                    

378.  
Which is false regarding staples?

 (Один ответ)
A) they have a higher rate of infection than sutures                                                    
B)  they are cheaper than sutures                                                    



C) they are quicker to insert than sutures                                                    
D) they are more painful to remove than sutures                                                    

379.  
Granulation tissue forms when a wound is healing and is:

 (Один ответ)
A) made by leucocytes (white cells)                                                    
B) a normal and desirable process                                                    
C) an abnormal and undesirable process                                                    
D) due to removal of old blood vessels                                                    

380.  
At which distance should two point discrimination be possible?

 (Один ответ)
A)  2mm                                                    
B) 5mm                                                    
C)  7.5mm                                                    
D) 10mm                                                    

381.  
Which organ in the list is the largest of the human body?

 (Один ответ)
A) bone marrow                                                    
B) liver                                                    
C) skin                                                    
D) brain                                                    

382.  
Which transparent layer of the skin does not contain blood vessels?

 (Один ответ)
A) dermis                                                    
B) adipose layer                                                    
C) epidermis                                                    
D) serosa                                                    

383.  
Which is not readily seen on Xray?

 (Один ответ)
A) all glass greater than 2mm                                                    
B) gravel                                                    
C) teeth                                                    
D) fish bone                                                    



384.  
When epidermal cells move towards the surface of skin, they become filled with:

 (Один ответ)
A) immunoglobulin                                                    
B) thrombin                                                    
C) collagen                                                    
D) keratin                                                    

385.  
The function of sebaceous glands is to produce:

 (Один ответ)
A) sebum                                                    
B) sweat                                                    
C) melanin                                                    
D) keratin                                                    

386.  
Human bites to what area have the highest rate of infection?

 (Один ответ)
A)  face                                                    
B) arm                                                    
C) shin                                                    
D) hand                                                     

387.  
The term erythema refers to:

 (Один ответ)
A) function of erythrocytes                                                    
B) increased blood flow to skin                                                    
C) the action of the antibiotic erythromycin                                                    
D) yellowing of skin                                                    

388.  
.Regarding bites which is false?

 (Один ответ)
A) all hand bites (animal and human) should be managed by delayed primary closure or 
secondary  intention                                                    
B) primary wound closure to the head and neck is acceptable after appropriate wound irrigation                                                    
C) wounds less than1-2 cm have a lower rate of infection and can be safely treated with primary 
closure                                                    
D) infection with pasturella multicodia is specific to cat bites                                                    



389.  
Deviation from the thermoregulatory set point is detected by:

 (Один ответ)
A) sensory nerve endings in the skin                                                    
B) the liver                                                    
C) skeletal muscles                                                    
D) the hypothalamus                                                    

390.  
Which antibiotic regimen is recommended in antibiotic guidelines for bites with a high risk of 
infection?

 (Один ответ)
A)  augmentin duo forte                                                    
B) penicillin                                                    
C) ampicillin                                                    
D) cephalexin                                                    

391.  
 All of the following statements about erythroderma are true EXCEPT

 (Один ответ)
A) There is > 90% body surface involvement                                                    
B) It is more common in males                                                    
C) The most common cause is drug reaction                                                    
D) High output cardiac failure is a recognised sequelae                                                    
E) Splenomegaly is associated in about 15%                                                     

392.  
 The feature you would NOT expect to find in a case of erythema multiforme after cefaclor use is

 (Один ответ)
A)  Itch                                                    
B) Target lesions                                                    
C)  No cross sensitivity with cefotaxime                                                    
D) Complete resolution in 2-3 weeks, without sequelae                                                    
E) Arthralgia                                                    

393.  
 Which of the following features is consistent with scarlet fever

 (Один ответ)
A) Punctate rash on neck and truck                                                    
B) Perioral erythema                                                    
C) Geographic tongue                                                    



D) Resolution without desquamation                                                    
E) Only occurs in association with streptococcal pharyngitis                                                    

394.  
Erythema Nodosum is an example of

 (Один ответ)
A) Panniculitis                                                    
B) Vasculitis                                                    
C) Serum sickness                                                    
D)  Erythroderma                                                    
E) Type 2 hypersensitivity                                                    

395.  
Geographic tongue is caused by

 (Один ответ)
A) Kawasaki disease                                                    
B)  Syphilis                                                    
C) Acromegaly                                                    
D) Pernicious anaemia                                                    
E) None of the above                                                     

396.  
 The toxic reaction you would least expect with bupivocaive is

 (Один ответ)
A) Anaphylaxis                                                    
B)  Sense of impending doom                                                    
C) Fitting                                                    
D) Arrythmia                                                    
E) Depressed level of consciousness                                                     

397.  
 Which of the following is associated with a lower incidence of wound infection (given adequately 
cleaned

wounds)

 (Один ответ)
A) Steristrips                                                    
B) Staples                                                    
C) Histoacryl                                                    
D) Antibiotics for puncture wounds                                                    
E) All of the above                                                    

398.  



Which of the following is not associated with poor wound healing

 (Один ответ)
A) Lower limb lacerations in the elderly                                                    
B) Broad based flap lacerations                                                    
C)  Long flap lacerations                                                    
D) Haematoma beneath a flap laceration                                                    
E) All of the above are associated with poor wound healing                                                    

399.  
 If a patient presents with DIC after dog bite the likely organism would be

 (Один ответ)
A)  Pseudomonas Aeruginosa                                                    
B) Staphylococcus Aureus                                                    
C) Streptococcus Viridans                                                    
D) Capnocytophaga Caniniosus                                                    
E) Pasturella Multocida                                                    

400.  
 A backpacker returns from Thailand claiming to have been bitten by a dog in Bangkok the week 
before.

There is a healing wound with scab on the right forearm ulnar aspect of the extensor surface. 
She cannot

remember her vaccination status. Which statement is most correct

 (Один ответ)
A) You should give 250U TIG, 0.5mL of ADT, commence oral antibiotic and refer back to the GP 
for further  care – complete ADT vaccinations                                                    
B) There is a strong risk that cellulitis due to pasturella multocida will develop in the next week  
c) ADT is contraindicated if she is either haemophilliac or pregnant                                                    
C) ADT is contraindicated if she is either haemophilliac or pregnant                                                    
D) You should give 250U TIG, 0.5mL of ADT 3 x in the next 3 months, 20U/kg RIG once and 0.1mL 
HDCV 5                                                    
E) Her risk of contracting rabies would not be reduced if she had cleaned the initial wound 
thoroughly straight  after the injury occurred                                                     

401.  
Which organ in the list is the largest of the human body?

 (Один ответ)
A) bone marrow                                                    
B) liver                                                    
C) skin                                                    
D) brain                                                    

402.  



Which rash is not characteristically found on the hands?

 (Один ответ)
A) secondary syphilis                                                    
B) erythema multiforme                                                    
C)  gonococcus                                                    
D) meningococcus                                                    
E) herpes simplex                                                    

403.  
Which transparent layer of the skin does not contain blood vessels?

 (Один ответ)
A) dermis                                                    
B) adipose layer                                                    
C) epidermis                                                    
D) serosa                                                    

404.  
When epidermal cells move towards the surface of skin, they become filled with:

 (Один ответ)
A) immunoglobulin                                                    
B) thrombin                                                    
C) collagen                                                    
D) keratin                                                    

405.  
.In what dermatological condition is a Tsanck smear used to aid diagnosis?

 (Один ответ)
A) Skin lesions of meningococcus                                                    
B) Herpes vesicular lesions                                                    
C)  Secondary syphilis                                                    
D) Urticaria                                                    
E)  EBV                                                     

406.  
The function of sebaceous glands is to produce:

 (Один ответ)
A) sebum                                                    
B) sweat                                                    
C) melanin                                                    
D) keratin                                                    

407.  



The term erythema refers to:

 (Один ответ)
A) function of erythrocytes                                                    
B) increased blood flow to skin                                                    
C) the action of the antibiotic erythromycin                                                    
D) yellowing of skin                                                    

408.  
.Which is not true of erythema multiforme?

 (Один ответ)
A)  less than 30% of the skin must be blistered to make this diagnosis                                                    
B)  there tends to be associated fever and arthralgia                                                    
C)  there tends to be associated fever and arthralgia                                                    
D)  it settles within 7-10 days if left untreated                                                    
E) steroids orally quicken the recovery                                                    

409.  
Deviation from the thermoregulatory set point is detected by:

 (Один ответ)
A) sensory nerve endings in the skin                                                    
B) the liver                                                    
C) skeletal muscles                                                    
D) the hypothalamus                                                    

410.  
An increase in the temperature of blood activates which effector responses?

 (Один ответ)
A) vasoconstriction of arterioles in skin  and sweating                                                    
B) vasodilation of arterioles in skin  and sweating                                                    
C) vasoconstriction of arterioles in skin  and shivering                                                    
D) vasodilation of arterioles in skin  and shivering                                                    

411.  
When a person goes outdoors into a cold environment:

 (Один ответ)
A) the rate of sweat production increases                                                    
B) the thermoregulatory centre in the  hypothalamus is inhibited                                                    
C) blood flow to the skin increases                                                    
D) heat loss is limited and heat-gaining  responses are activated                                                    

412.  
Which drug is not likely to cause toxic epidermal necrolysis?



 (Один ответ)
A) penicillin                                                    
B) trimethoprim                                                    
C) carbamazepine                                                    
D) cimetidine                                                    
E)  piroxicam                                                    

413.  
The term hypothermia refers to:

 (Один ответ)
A) body temperature below the normal range                                                    
B) body temperature above the normal range                                                    
C) heat exhaustion or heat stroke                                                    
D) poor response to thermal challenge                                                    

414.  
Identify the correct sequence of the phases of wound healing:

 (Один ответ)
A) proliferation; inflammation;  epithelialisation; remodelling                                                    
B) remodelling; inflammation; proliferation;  epithelialisation                                                    
C) inflammation; proliferation;  epithelialisation; remodelling                                                    
D) epithelialisation; proliferation;  inflammation; remodelling                                                     

415.  
The term haemostasis refers to:

 (Один ответ)
A) a red pigment in blood cells                                                    
B) bleeding                                                    
C) dialysis of blood                                                    
D) stoppage of blood flow                                                    

416.  
Granulation tissue forms when a wound is healing and is:

 (Один ответ)
A) made by leucocytes (white cells)                                                    
B) a normal and desirable process                                                    
C) an abnormal and undesirable process                                                    
D) due to removal of old blood vessels                                                    

417.  
Which is not a possible cause of a blistered patient?



 (Один ответ)
A) molluscum contagiosum                                                    
B) hand, foot and mouth disease                                                    
C)  eczema herpeticum                                                    
D) allergic contact dermatitis                                                    
E) bites                                                    

418.  
Which is NOT TRUE of staphylococcal scalded skin syndrome?

 (Один ответ)
A) it is most commonly seen in infants                                                    
B) it is toxin mediatied                                                    
C) there is no mucosal invovement                                                    
D) it tends to be less severe than toxic epidermal necrolysis                                                    
E) the focus for infection may be non cutaneous                                                     

419.  
When a person goes outdoors into a cold environment:

 (Один ответ)
A) the rate of sweat production increases                                                    
B) the thermoregulatory centre in the  hypothalamus is inhibited                                                    
C) blood flow to the skin increases                                                    
D) heat loss is limited and heat-gaining  responses are activated                                                    

420.  
Which infectious erythema is purely caused by toxin alone and not from the infectious process 
as well?

 (Один ответ)
A)  toxic shock syndrome                                                    
B) scarlet fever                                                    
C) streptococcal toxic shock syndrome                                                    
D) staphylococcal scalded skin syndrome                                                    
E)  all of the above                                                    

421.  
The term hypothermia refers to:

 (Один ответ)
A) body temperature below the normal range                                                    
B) body temperature above the normal range                                                    
C) heat exhaustion or heat stroke                                                    
D) poor response to thermal challenge                                                    



422.  
Identify the correct sequence of the phases of wound healing:

 (Один ответ)
A) proliferation; inflammation;  epithelialisation; remodelling                                                    
B) remodelling; inflammation; proliferation;  epithelialisation                                                    
C) inflammation; proliferation;  epithelialisation; remodelling                                                    
D) epithelialisation; proliferation;  inflammation; remodelling                                                    

423.  
The term haemostasis refers to:

 (Один ответ)
A) a red pigment in blood cells                                                    
B) bleeding                                                    
C) dialysis of blood                                                    
D) stoppage of blood flow                                                    

424.  
Which rash is not usually itchy?

 (Один ответ)
A) urticaria                                                     
B) eczema                                                    
C)  scabies                                                    
D) bites                                                    
E) scarlet fever                                                    

425.  
Granulation tissue forms when a wound is healing and is:

 (Один ответ)
A) made by leucocytes (white cells)                                                    
B) a normal and desirable process                                                    
C) an abnormal and undesirable process                                                    
D) due to removal of old blood vessels                                                    

426.  
Which is not true of scarlet fever?

 (Один ответ)
A)  the erythema appears very early after the prodrome begins                                                    
B) the rash does not blanche                                                    
C) there is circumoral pallor                                                    
D)  there is often pharyngotonsillitis                                                    
E) there is a strawberry tongue                                                     



427.  
Which organ in the list is the largest of the human body?

 (Один ответ)
A) bone marrow                                                    
B) liver                                                    
C) skin                                                    
D) brain                                                    

428.  
Which transparent layer of the skin does not contain blood vessels?

 (Один ответ)
A) dermis                                                    
B) adipose layer                                                    
C) epidermis                                                    
D) serosa                                                    

429.  
When epidermal cells move towards the surface of skin, they become filled with:

 (Один ответ)
A) immunoglobulin                                                    
B) thrombin                                                    
C) collagen                                                    
D) keratin                                                    

430.  
The function of sebaceous glands is to produce:

 (Один ответ)
A) sebum                                                    
B) sweat                                                    
C) melanin                                                    
D) keratin                                                    

431.  
Which is not one of the five criteria other then fever required to make the diagnosis of Kawasakis 
disease?

 (Один ответ)
A)  cervical LN                                                    
B) peripheral changes. Eg erythema and oedema                                                    
C) bilateral non purulent conjunctivitis                                                    
D) polymorphous rash                                                    
E) pustular tonsillitis                                                    

432.  



The term erythema refers to:

 (Один ответ)
A) function of erythrocytes                                                    
B) increased blood flow to skin                                                    
C) the action of the antibiotic erythromycin                                                    
D) yellowing of skin                                                    

433.  
Deviation from the thermoregulatory set point is detected by:

 (Один ответ)
A) sensory nerve endings in the skin                                                    
B) the liver                                                    
C) skeletal muscles                                                    
D) the hypothalamus                                                    

434.  
Which dose not tend to produce palpable purpura?

 (Один ответ)
A) meningococcus                                                    
B) vasculitis                                                    
C) SLE, rheumatoid arthritis                                                    
D) Clotting disorders                                                    
E) Henoch schonlein purpura                                                     

435.  
Which is not associated with erythema nodosum?

 (Один ответ)
A) sarcoid                                                    
B) crohns disease                                                    
C)  leukemia                                                    
D) salmonella                                                    
E) hep B                                                    

436.  
An increase in the temperature of blood activates which effector responses?

 (Один ответ)
A) vasoconstriction of arterioles in skin  and sweating                                                    
B) vasodilation of arterioles in skin  and sweating                                                    
C) vasoconstriction of arterioles in skin  and shivering                                                    
D) vasodilation of arterioles in skin  and shivering                                                    

437.  



Which is not associated with pyoderma gangrenosum?

 (Один ответ)
A)  IBD                                                    
B)  Rheumatoid arthritis                                                    
C) Leukemia                                                    
D) salmonella                                                    
E) myeloma                                                     

438.  
When a person goes outdoors into a cold environment:

 (Один ответ)
A) the rate of sweat production increases                                                    
B) the thermoregulatory centre in the  hypothalamus is inhibited                                                    
C) blood flow to the skin increases                                                    
D) heat loss is limited and heat-gaining  responses are activated                                                    

439.  
Which is NOT TRUE of pemphigus and pemphigoid?

 (Один ответ)
A) the prognosis of pemphigoid is better                                                    
B) pemphigous lesions are intra dermal where as the lesions in pemphigoid are subdermal                                                    
C) mucosa is more often involved in pemhigous                                                    
D) clinically the two can be usually differentiated with a good examination                                                    
E) they are both autoimmune disorders                                                     

440.  
Which medication does not commonly cause photosensitivity eruptions?

 (Один ответ)
A) thiazide diuretics                                                    
B) spironolactone                                                    
C)  loop diuretics                                                    
D) amioderone                                                    
E) sulfonylureas                                                    

441.  
When a person goes outdoors into a cold environment:

 (Один ответ)
A) the rate of sweat production increases                                                    
B) the thermoregulatory centre in the  hypothalamus is inhibited                                                    
C) blood flow to the skin increases                                                    
D) heat loss is limited and heat-gaining  responses are activated                                                    

442.  



Which medication does not commonly cause photosensitivity eruptions?

 (Один ответ)
A) thiazide diuretics                                                    
B) spironolactone                                                    
C) loop diuretics                                                    
D) amioderone                                                    
E)  sulfonylureas                                                     

443.  
The term hypothermia refers to:

 (Один ответ)
A) body temperature below the normal range                                                    
B) body temperature above the normal range                                                    
C) heat exhaustion or heat stroke                                                    
D) poor response to thermal challenge                                                    

444.  
Identify the correct sequence of the phases of wound healing:

 (Один ответ)
A) proliferation; inflammation;  epithelialisation; remodelling                                                    
B) remodelling; inflammation; proliferation;  epithelialisation                                                    
C) inflammation; proliferation;  epithelialisation; remodelling                                                    
D) epithelialisation; proliferation;  inflammation; remodelling                                                    

445.  
.Which is not true of antiviral medications if given within 72 hours of vesicle formation in herpes 
zoster?

 (Один ответ)
A)  it decreases time to healing                                                    
B) it decreases new lesion formation                                                    
C) it decreases recurrence                                                    
D)  it possibly decreases pain                                                    
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